BEACONHOUSE
DEFENCE CAMPUS

A "I
AT

!
|,I|§III - l'l|'||t|'|.

1.'_'Hl.lrlltllillll

SIR UMER
ADEEL

ECONOMICS A LEVEL NOTES

Scanned by CamScanner



SN

R 7 I}
. e ' / 70
1 lmnomtu g SRRt B PRy TRRANRCE IR : ‘ "
ECONOMICS. Is the study of how socletv provldes lor ltsell by rnaklnl! the Lnoqt efllcwnt use of ’f; ’
scarce resources so that both private and soclal welfare may be improved. Aé #
« Economics provides a framework Tor studying how Individuals, "households, firms, [7 l
governments and global organlzatlons behave and take a W|de range of decl,lom, 7 ,7'
1.1 l\ht,roewnomics and M'tcroeconomics e : : 72
Economics can be broadly divided into two branches: " - e o A 1 7
« Microeconomics , m 4Lt B s
. Macroe'cono'mlcs . I M VTR .71 .
\.,_....‘ . . S T oty : y |
MlCROECONOMlCS refers to the body of economlc pl’lnCIples and co_ncepts that explalns the - ? I
behaviour of individuals and ftrms in dlflerent S|tuat|ons The issus. co\Jered in microeconomics l{/ I
_ caninclude scarcrty and opportumty costs pr!cmg of goods and servrces utrllty, budget line and ,”
h mdlfferente curves, costs, revenues and ploflts ofhrms. T i

=

MACROECDNOMICS refers 10 the economic lssues that relate to the whole' economy These

issues can mclude economic growth unemployment |nflat|on '?natlonal mcome and living
i standards ) . ..

R

TN e 2

TIET

=, Many econ _l"nlC issues and. problems cannot be satlsfactorlly classified as micro or macro and
"‘encompa<s both:branches of economics. For example, an increase in taxation on ‘petrol may

reduce the demand for petrol. There is both an effect on mcome of rndlvu:Iuals (mlcro) and the
revenues ofgovernment (macro) '

1.2. Normatwe and Positive statements : !_ B
Economrsts cannot always be certam that what they say.

“is complétely accuraté:of how the
advice they provtde W|ll aﬁ‘ectan economy e, M

POSITIVE STATEMENT is based on emplrrcal or acual :.r i

’ > Statements about economlcs that can be oroven
Tm o= EeaidhT zi:uar,m_ oy

« These can be supported or refuted by evide

° ror example following is a positive statement: ’*he infiation rate in 2009 was 2.5%
! . Staternents about the future can also be positiva s*atements For example The service
sector will grow by 30% in size over the next hve years.”:

tatement is capable of being proved or d|sproved even though economtsts may
have to wait for five years to know whether it was actually true or false.

NORMATlVE STATEMENTS involve value Judgments and are ones that are SUbJECthe about
what should happen :

UMtR

o/n
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+  Those statements connot ho ‘.m)p(_und or_yn[u;od.
« They are oplnlong about how c‘umt)mlr". .mu lnml r't luould Wo{
«  For example, the (ollnwlnuflnlnnwnt .nnlmnhntlvo' Sy
o ‘The government should cut fuel tax to reduce the rate of Inflation.”
o 'Public sector workers should rr'(luu'lholrdom’md"forhl[ghcrwaﬂc
« These are often drawn from the economlst’s por:uonnl\/lowe, politlcal bellefs 3nd ethics.
Normative statements tend to contaln words ke, hould’,nnd oupht Although

sometimes positive smemenL also contaln tl‘m 0 word

’ ’ Y & »!
o G e
’w Y B I gt «,
"

1.3 Production and Consumption . ' e S g b,
PRODUCTION is the process of c1e1t|ng goods and. qmvuc' iin.an economy: Goods and services L
have theQ:apacntyto sausfy wantsﬁ -'-’— : e Ul g il

CONSUMPTION is the process by whuch coneumc:s sulnsfy thmr W1ntJ
* Some goods, such as sweets, ;laro quickly used.up. el B T .
¢ Consumer durables, such as refngerators and mobnlc phone satisfy?'\)\(ants'ovjeyig’,'

longer period.
|

R

1.4 Fhe tlme dlmenslon :
SHORT RUN is a time period when a firm can only change

some and rot all factor inputs. At
least one of the factors of productxon is flxed ‘ ‘ ; f .

LONG RUN is the time period when all factors of. productnon are vanabl ‘. Flrm mavy'lmprove the N
quantity and quality of its capltal by bUlldlng a new factory to mcrease ItS output'Thxs Ieado to R

greater efficiency in the longrun. . o ) AT

s |nto prod

VERY LONG RUN'is a time penori when all key mput able." These kéy-_',h,"‘ 7
inputs can lnclude technology, go»cmment regulatlon T
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'(u) Labour

" of the issues related to labour are listed below:

. 2 & Basic economic problem

7 Basic economic problem

2.1 Limited resources SR ,'_
RESOURCES are inputs available fc ' Ve ey L e T -
of FACTORS OF PRODU(_‘TloNe :Zr the production of goods and services. There are four types

the resources that are
combmed to roduce goods and
services. These include land, Iabour capltaland eﬂtErpnse . _ ’P g

(i) Land :
LAND lncludes the surface of the earth and a

mxnerachIleposns and the’ chmate Some of the.major |ssue5 with’ respect to Iand mclude
he reward for owning land is the i |ncome and rent that is generated
Land is scarce and it cannot be mcreased in quantlty |

such as forest and fish can be replaced by natural process whereas NON-RENEWABLE
RESOURCES such as mineral deposrts, onl and gas cannot be replaced once consumed.

o There is a concern at the rate at which these resources are being depleted.

Higher levels of consumption today means that we enjoy high levels of living

standards today but this will |eave fewer | resources for future generations with

the concern that the high living standards may not be sustamable in the long run.
o “Another concern resulting from the’ rate of. consumptlon is that it is leading to
higher levels of pollutlon that may lead to' poor l|\nng standards in the future
s Quantity of land can increase due to dlscovery of mineral reserves, or 1mprovement of
water-logged and eroded Iand ‘It can Hccrecs due to depletion_ of resources water-
logging and erosion. DS ' e
e -Quality of land can be rncreased ‘cnruugL 5 of c‘mo]ogy ‘use of pestludes and
femhzer, and tralnmg of rarmers Tms wrir .eqr, ro increase inr roducnvuy of land

LABOUR includes all mental and physical effort of num ans ic oduce goods and servrces Some

« Wapes and salaries are paid to labour. - _ .

« Labour can be both sk cilled and unskrlled Sknlled labour |s more productlve but demands
higher wages, whereas unskilled labour is cheaper but less productlve :

« Quantity of labour increases because of increase in populatlon size, net nmmlgratron
increased woman participation in the labour force, and hlgher retirementage.

« Quality of labour can increase through trammg and educatlon better Ieadershrp style
that motivates the employees and us of machmery These. steps lead 1o \lncreasn in

ploductlwty of Iabour

ScanndyCamScanner
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. Another important lssue In recent years that has emerged s that of lemalle rlfat:tlcrmen :
i \abour force. Most of the nations are evldenclnb an increase in. fema eka our force -
participation, This leads to an overall lncreaqe In supp|y ol Iabour in the mar et

i) Capital
\(:A)P\TAL includes all man-made aldes to production such as robots, machines, software and
spades. Capital goods increase the lproducnvrty))f antl/qualrty>of productron from land and
\abour. Issues with respect to caprtal include: - 2, 0 e
o The reward for caprtal is the rate of return and |nterest that |s earned

Capital good<rrnproye the productivity levels. in the economy ki s - e
Working_or_circulating_capital is stocks . of raw materrals, semr-ma‘nUfacture’d,and.'-,'
finished goods which are waiting to be sold N i e = £ '
Fixed capital is the stock of factories, offrces plant and machrner
transform working capitalinto fmrshed products P : : A
. There is a threat that a rapid change in technology may make B <r>ung caprtal obsolet= Do
« Developing economies:=da.nat have enough resources to invest in “cepital. They then
have to import capital from developed economies.

Quantity of capital increases when net rnvestment is nosrtl/'
greater than capital consumption) and through rmports

« Quality of capital can be |mproved through rnvestment in H&D 1,m'p'_r_o'y'e the state of
technology. . : Gooie I

Itis used to

{gross investment is -

(iv) Enterprise (Entrepreneurship)

ENTERPRISE performs two functions in an economy [r) entrepreneurs
factors of production to produce goads and services; and (n) entrepren
with investment and production. Enterprlse rnvolves followrng issues

e Profits belong to entrepreneurs

* Firms can be large-or small. smaller firms have few 'rés’ourtes’ nd are usually run 'b’y"'
single individuals (sole proprietership). Larger firms have more resources, engage .’

specialist managers, use division of labour, and sell shares to: shareholders (publrc o
limited companies).

rganrz other three
take risk as_so_crated

Quantity of enterprise can be increased throngh trarmng and educatron of workers ano
through investor-friendly government polrc:es

» Quality of enterprise improves through use of trammg and educatron ‘and experrence

Contrrbutron of enterprise to the economy’ T -
Market is performing an increasing role’ in almost all economreg

opportunrtres for the’ development of. an enterprrse culture W rereny- who are prepared-
to take risks may achieve substantral busrness SUCcess For e»ampl\ _Mlan-Nrshat (Pakrstan)

Rata Tata (India), and Richard Branson (UK) have burlt up larce husrness emprres Entnrpnse
brings following benefits to the economy:

Thrs "has provrdeo R

"o Enterprise starts new frrms and’ rncrease rnvestment rn the economy
J lt creates new [obs hence lowering unemployment Ain the economy

Scanned by CamsScanner



2 — Basic economic problem

Enterprise leads to lnnovatlon asa lot of new and h| tech products are introduced by
new small firms, Co b aL

¢ Successful firms can become Iarge multinationals.

Profitable firms will- give more taxes to the' government that can be used to build

infrastructure and improve economic effucuency St SR '

* New firms provide competition’ "to. exrs’ung flrms tha leads to more ChOlCe for
consumers, lower prices and better quahtv products due to competltlon

New firms can also lead to’ rise in: exports and lower lmports leadmg to ,mprovement n
“balance of payments.

s

New firms improve social cohesnon by allowmg poor or mlddle class lndeuals to earn
hlg,her rewards by mvestmg in successful busmesses ; '

Use of factors of productnon in dlfferent sectors in the economy

All factors of production are required to produce goods and services, however thelr relatlve
importance and use depend on the sector and the productlon methods.

ECONOMIC STRUCTURE refers to the way in Wthh an economy is orgamzed in terms Of SEEADES;
The following sectors are recognized: . o

1. Primary sector: PRIMARY SECTOR con5|sts of agnculture flshmg and actlvmes such as

mining and oil extraction. It requires more land and labour. However ln recent years there
is an increase in use of capital such-as tractors and tube wells.

2. Secondary sector: SECONDARY SECTOR consnsts of a range of manufactnnno actrvmes such

as food processing, textiles, clothing, iron and bLDEI produc‘non It¥also consrsts of
construction. It requires more capital where machme are used t'\ produre more goods and
services. Again within it, labour-intensive production techrigues tse relatwely more labour
and capital-intensive production technigues {such 3s fiow production) requrre relatlvely
more capital. R - A
3. Tertiary sector: TERTIARY SECTOR consists of services suthas reailing, transports, logistics,
banking, insurance and education. It again neads al E
more:labour-enterprise: It also requrresalotcle *emr‘:;&;ﬂ :
7;41 Quaternary sector: QUATERNARY SECTOR is a term uscd to o’enote tlm knowledge -based
* part of the economy, especially the provision of information. Typical examples include
scientific research and product development, and computmg lt uses a lot of technology and
alsorequires skilled labour. : -

j)l productlon but is usuallv

The economic structure changes with the level of deveIOpment of’an economy ln de\/elomng
countries, the largest contnbutlon to GDP comes from’ pnmary secto Wthh is also the largest
employer. In developed countries, the tertiary sector tends tor be the largest employer and also
contributes more toward the GDP L R

Factor endowment ' A : :
FACTOR ENDOWMENT refers to the avallablllty of facto_,p_f_p_mductlon-lnan econorr\y For
instance, Saudla has abundant oil reserves; Pa|<|stan has good climate and land suitable for

—
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2~ Basic céonomic

agriculture; Japan has a ot of capital; etc.. Whereas all factors-of productton will be ; avauab,
all economies, however, economies will. dh‘fer in. ternts of the abundance or shortage offact o
For instance, .poor and developing economres have bundant laboUr whrle lacmg Shorta g of
capital; developed economies have abundant capltal and lace labour shortages Saudra is Fich iy
oil; Pakistan has good climate and land’ for agnculture Chrna has a lot of skrlled and Cheap
labour etc. This leads to following issues: T T e T e T
«  Abundant factor is cheaper and the shoit factor i more expensrve Therefore we fmd
that labour in developmg economres (where it is abundant) is cheaper than labour m
developed economies (where it is short) On the other hand caprtal rs cheaper ,n; g
developed countries than mdevelopmg countries. B RN
« Economies tend to specialize in those products that use more of thelr abundant' '
resources. Therefore, developing economies are expected to specialize in labour-
intensive technigues, and developed economies are expected to. specralr;e in caprtale,'_,.f
intensive technigues. - ; A » I

2.2 Unhmlted w ants A : :
Consumer desrres can be drvaded mto needs and wants

(i) Needs oL : : T
NEEDS are-those desrres that must be satrsﬂed lor a ; / ] flt.canv, mclude both
physical needs (such as food, shelter and clothmg) and osycholoe*cer reel'o (Juch as the need to-
be loved and cared). Needs are ltmrted L : ~ LA :

(ii) Wants :
WANTS are desires that are less essentlal but can rmprove the quahty of hfe They can mcludo
cars, holidays, cinema, TV and like that.. RS - : :
¢ Wants are unlimited and are contmuouslv exoandmrz and changme lf one want Is | o
satisfied, a new want will cr.mrge :
¢ Individuals desire better food, luxurious housing, better workmg condmons etc Firms
want more profits and expansron -af... busmess Society ‘may want lmprovecl
infrastructure, low mflatron hrgh economrc growth and better living’ standards
* Wants can evolve with our age, ol féxperrences 0 nt"and social cir cle, andf‘.- .
through our observation. Every mdrvrdual has 4 scaléof oreference that determlne., his. -
needs and. wants.. This scale of preferénce: depends on an mdrvrduals culture hrs i
“upbringing, and his life expenences ' " e R
e Wants are also somettmes called luxurres A luxury
a need for another. . e e E
* Somne wants expand as we grow up,'rrja'r_ry’ an“'c_{ ra'ise ¥

forone in vr\dual_.'r_na_y-be c'onsidere'd»

2.3 Scarcity and Choice : .
SCARCITY is the fundamental economic . problem of havmg seemmgly unhmrted wants'in a.
world of limited resources so that all wants' cannot be <atrsf|ed Economy and the decrsron '

Scan ned by CamScan ner



: - o . 2 — Basic economic problem

. reso l'C&S are SC&I‘CQ

makers hence have to make a chorce CHOIC'”.underpms the concep h
' ' 'cnety has to make

so choices have to be’ fade; by consumers
following choices: ‘ B
¢ What should be produced'v’
« How it should be produced?.
« Forwhom it should be produced?

Wwhenever a decisi ' nl e , :
ion maker faces shortag_and makes a chonce_ﬂ\[g Lrl e to oggortumty cost.

2.4 Opportunity cost
p
8p;g::::l?yl?;stcgg;r! ;ilszsf;nnEd as the beneht foregone on the next best alternatlve
Aburidant Fesourtes sich o Tcahrce resources such ‘as land, machlnes, burldmg and labour.
have no pportilnity. tosts: Al 2'8 t.and sea water. do: not lead toa probiem of scarcity and
ecision makers in the economy w:II have to face opportumty
costs. Some of the examples are given below. c

e Consumers have limited income-and cannot purchase all the goods that they want. If a
consumer decides to. buy a TV, then, that consumer is: foregomg the ‘benefits that he
couid have received ifhe had purchased another good such asa washmg machine

o Similarly, if consumer decrdes to spend hlS lncome hrs opportunlty cos
the interest Iost on savings. s L _

e Firms have limited income and finance and cannot produc
demanded. If the firm decided to produce product A, then, the profit they could have
earned from producing product B is the opportunity cost of producing A.

° Governments have limited tax revenues.and cannot spend on all acuvutles required in an
economy. If they spend money.on defence, then,’ they are. 10!’ch|[‘|" ‘the benefits they
could have received from investing in health and education. '

o Similarly, if government decides to inc s
population, the opportunity cost will be
resulting from lower dxsposable incorme.

. Workers have.limited time avanldble o' them, ol
worker decides to work in a certam occupat or

another occupation is his opportumty cost. i 5
o Similarly, when workers decide to spend more time' on work the opportumty

cost is the time they could’ have: spent on Ielsure actnvmes
« Others such as charities and mternanonal orgamzatrons face sumllar problems »
Opportunity cost is even present between the choice of present- and future. If a society

decides to spend on capital goods, the opportunlty cost is. fewer consumer goods that
reduce short term living standards. .

t wnH be

e all products that are

by taxing the
in savings

a
=]

nities. When a
rom working in

i hv‘ﬂ ‘n

presents the true cost of taking 2 decision and economists include the
of taking a decision. NOTE: Scarcity can be shown as the are'a outside
be explained using PPC and a movement on the curve.

Opporturiity cost thus re
opportunity cost in cost
PFC. Opportunity cost can

Scanned by CamScanner
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s and Free 8 uoods
hose goods whlch hav 3
d grve nse to opportunlty cost

y factor of prod uction to‘be produced 5

2.5 Economiic goods
ECONOMIC GooDS are t
These goods are scarce an

FREE GOODS are those goods tha‘t do not reqmre an

o There is no price for free goods. . '
wrld berrles etc.

e There are very few examples of free goods mcludmg alr, )
As the population of planet has mcreased the number of free goods has decreased

Free goods have no opportunlty cost :

2.6 Economiic quesnons R P AT
f scarcity leads to-choice: that means{ njeconomy. as.
om whom to produc

The problem o
produce?; ii) how to produce rt'-’ and m) fr

nts because- of scarce - :
generally would lrke to

(i) What to,prdduce7 o
Since an economy cannot produce all th
resource, it will have to decide what shou
produce those goods and services that maxrmrze satls

Id be produced The economy
factlon and economrc walfare

i.e the |nteract|on of demand and
‘indicates 3 higher- demand and
ower productlon of the .

Free markets make thrs decision based on pnce mechanlsm,
market. A hrgher pnce

supply forces. Prices give signals in the
firms produce those goods and services whereas a lower prlce leads to |

good.

es take the decision based on socral benefrts and socnal costs ’The decrsron is*

Planned economi
imize socral welfare

taken by a central planning authonty and tnes to max

- (ii) How to produce?
Resources available to an economy are scarce in relatlon l
therefore has to decide how best to: use its: resources -to"m Jimize. rhe outcome Economles o

have many different productlon methods to ' choose’ fronr‘ ‘ \/"canuse labour mtenswe or
capital-intensive techniques. Free markets base the decision: using demand and supplv forces -
Other things remaining same, an ecohomy ‘will use the producuun mct‘wod which ‘uses more of 5
its abundant resource and less of its scarce resource. In planned economles thlS decision is also |

taken by a central planning authority-

unum.?ed wants The economy

questron must not be addressed on purely economlc terms We also
dmg this: questnon For mstance use of slavery or forced,.

‘economy ‘but: theré'is a" moral objectlon ‘1o’ thls
e of

prove agrlcultural yrelds but can- lead to damag

It must be noted that this
need to consider other issues when deci
labour can increase production in an
arrangement. Use of GM erops can im

ecosystem.

v 2t S ———— i
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(iii) For whom to produce?

The question here is that how
conomy such as rich and poor; YO

demand so that an

groups inthee

each group has unique
groups. Decisions have to be taken

satisfied.

\n free_markets this decision is take
of each group will result in change in prices.
and they can make more profits. In’ planned economie

authority that judges what is best for the economy. SN

Some economies deliberately attempt to Cre
income. This can be done. by taxing the-ric
economies, no such attempts to redistribute income 2
question, more aspects of decision making are again i‘mpdrwtan"i.‘_ ¥

« Whether everyone is going to-havea more 0
« Whether some will have more than others?

RS

N

/

B et e Ay g ¥ -/ 92 Bdsic economic problem

N

oh PR D e P

i i FRAY]

A .

N

.of..each l;ers'rj|'1"SIWants‘ are to be satisfied. The're are many
mary ung and old; urban and rural and like that and
economy cannot’ satisfy all the wants of all the

, fan h'person’s wants are to be

TR R,
AR

-oncerning how many of eac

rIR

SRIIIIAANILY
SONRNIRRARNG

A

fl\éé'élequal éhajfé'bf what is produced?

_

)

R

n through the price mechanism where derhand and supply '
Firms produce those goods where prices are higher
5 this degigibn,»iS;»_;aken_by the central

AR

=10 AT

2|

> E S NNANTY Y

ate a more equal .c,_iistr'ibu_tipn_ of wealth and
h and paying benefits tb ‘the’ poor. In other
nd wealth are made. In answering this
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3 —Production posslbﬂlly cur"'
—— Cirve

3 Production possibility curve JENL e

PRODUCTION POSSIBLITY CURVE (PPC) shows the maxlmum cornbmatlon of good, an,JT
services that an economy is capable of producmg by fully and elficuently utlllzmg its’ g"/nn"
resources and the state of technology. i :

* The productnon possubllnty |n an cconomy ls Ilmlted by the resourcns avallabla and 'tatov '

7,4 7.

PPC.

3.1 Shape of PPC

Shape of PPC depends on whether we assume. constant opportumty costs or mcreasn
opportunity costs, . 2 .

. . Military
Constant opportunity costs and Linear PPC . | oods -
If we assume that gpportunity cost remains same,. | .. |- i
then the shape of PPC will be linear (downward |- ™~

. sloping). This is not very realistic and assumes
that resources are perfectiv moblle for both
© goods.

FACTOR MOBILITY refers to ease by which factors - e
of production can be moved around. If factorscan | =" 0o
be easily moved around different industries. or
regions, they are called mobile. If it is di
industries, they are called |mmoblle

*. Consumer goods -

ffucult to move ractors around dnfferent reglons or.

Increasing opportunlty costs and Concave PPC : : . EE g
Since resources are not perfectly mobile, i.e. resources are speCIallzed in their nature and
cannot be equally efficient in. production of all goods, it is _more reallstlc to assume that =~ .
opportunity costs rise as resources are shifted from productnon of one good to anoLher Thb E
results mawofPPC that slopes downwards

: Agvlculmml
For example, assume that an economy produces" goods”

two types of goods — agricultural goods and | A B
manufacturing goods. As the economy. moves’
from point A to point B, initially only the least -
fertile land is- reallocated . to production . of "

manufacturing goods. This means that: there'is” | " 1

very low loss of agricultural output® (low. |- L e NE T
opportunity cost). As economy produces more | ‘ ‘l ‘ l\\; ,
manufacturing goods, it will have to reallocate | - .,o_ SRR YRR
more fertile land which will mean that the | g e """Ma““‘““”"‘"33°"“__""

decrease in agricultural product:on will mcrease lnadlng toan mcrease in opportumty cost.
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3~ Production possibility curve
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Explanatron ' co e

» At point A on the curve, -economy. Proc\uces ‘only agricultiral” goods (om) and no

manufacturing goods. The opportunrty cost\rs therefore 'ok’ of manufacfurrng goods.

v At point B on the curve, economy prod ces ‘on’ of agncu goods and ‘og’ of
manufacturing goods.. To produce og’ man facturing goods ‘the opportunrty cost to the
___economy is ‘mn’ of agricultural goods that is\foregone.

T At point.C on the curve, economy produces ‘oo’ of agrrcultural goods and ‘oh’ of
manufecturing goods. To increase productign of manufacturing goods from g to h the
loss in agricultural output is ‘no’ which is the bpportunity cost.

v At point F on the curve, the economy on\y produces manufacturrng goods and the

opportunrty cost is ‘om’ of agrrculturalgoods :
.J »

The table shows'that the opportunrty cost keeps on lncreasmgv_a‘s we move from point A on the
curve to point F. . £ : o

3.2 Arrralysmg economic performance using PPC Petegianh o U
PPC can show the maximum level of output that .an economy can ‘achieve with its existing
resources and the level of technical knowledge T ‘

Cood_ Y

Points inside PPC (e.g. point A) are achievable; |
but are either -inefficient; or there is R e
unemployment of scarce resources. To overcome
these problems, the economy should move i ; _
toward PPC by increasing aggregate demand (AD) o LA
to increase employment;  Of promornn '
competition to create efficiency.

S

All'points on PPC (e g. pornt B) are achrevable and Gl : . 'G‘mg
show full employment and productrve efncrency of scarce resource "Economic_efficiency
means that economy is maximizing its satrsfactron wrth scarce resources however all ‘wants
cannot be met because of scarcity of resources Firms are producrng goods at their lowest cost.

Movement on the PPC shows the opportunlty cost PPCis hence called product transformatron
curve. This helps an economy ‘take a decision. about how to allocate resources i.e.. which
combination of goods and services should be produced :
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an and cannot

S

' 't C
PPC shows the boundary between Wi:ztas on 0”
productron possibility ‘frontier. All pO :

PPC are not achievable.

2 D e et
e i TN S e MO A

NS

chlevable wnth current resources
oint C) show scarcity. These are %}?&smg quantlty of quality
Poinisoutside 2 B 5. my can achieve points above | reallocatmg resources frorrr”»vz '
or state of technolog; Efc;r;o g o state of techno ogy "
of its factors of production,

etrade R R ATNF VE R |
consumer goods to capital goo

ds or engaging N r2e 1208 T T e

d from one use to another
alize that resources ne_;féltqo Ob(; S;{};I_i,t(_-)euRCES refers to deliberate
: to another Economy has to incur
productlon ‘of _.':;-'product to the
Vi s’kllls. 10 “WOI

PPC helps policy-makers to re c
This is called reallocation of resources. REALLO

movement of resources from productlon of one prfog;ct

substantial training costs to reallocate resources ; t'” roc
production of another product Tralnmg |s requnre 5
requrred to produce drfferent types of goods and servrce a7

Shifts in PPC shows economic growth

Explaining Microeconomic and Macroeconomlc concepts on PPC ; COS 7
Microeconomic concepts that can be explamed “Scarcity and Opportu:| y C r(;Wth
Macroeconomic concepts that can be explalned Unemployment and Economicg

3.3 Shifts in PPC o
Shifts in PPC take place due to a change in quantlty or quallty of facters cr of oductlon a c ange::_ -

in the state of technology, and allowmg free trade

Economic growth ‘
ECONOMIC GROWTH refers to an increase in'the productlve potentlal of the. economy and i ls"-,:
shown as a Shlf‘t outwards of the PPC. It takes place due to mcrease m quantrty of ‘factors- Of",‘-'
production, |mprovement in quality’ of factors of productlon "a. rmprovement |n7technologl].
and a reallocation-of resources toward producmg more capltal goods ‘ P %

s Increase in quantity of resources means that economy Wil ‘be, able‘to produt:er\_P_f_ej
goods and services Ieadmg to an outsnde ' E
shift in PPC.

e Improvement in quality of resources or in
the state of technology lmpro_ves R
productivity of the factors of production. .
PRODUCTIVITY measures the ratio of
output to input ang can be measured by : C e
labour productivity or capital productivity: | - | - N =\
An increase in productivity means that-| .. L TR i R

economy can produce more goods Wlth 1
the same resources. ERCIRE ?

Good Yy °

i b
C
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_production  has

e . - ) ,. ) .' 'v‘ o
under consideration, P ndsv O‘“‘ how the C‘h.aljg_ta‘s_arg‘lpke,ly Po affelct ;he two goods

If the change in resources SECU
or improv
PPC, then, PPC will shift outw g ement ln teChnology is llkely to affect both goods in

ard’ paralleiy as shown ln the 5rgure above. .-

If the change in resources or improvement -— .
in technology is likely to affect just one | e -
good, then, PPC will pivor outward .as |, ] -

shown in the figure below. For example an -
improvement in agncultura[

technology' ‘
that is not applicable . to’ manufacturmg :
products leads to a pivot in- the. curve,
Maximum  amount -of

agrlcultural | B
‘increased . “but. . the

of manufactunngff
production remains the same.

maximum amount

e M"di\uhgluﬁng
' pmduct :

Apart from maximum production level of manufacturlng (WhICh does not change) at all
other levels of agricultural production, manufactunng has mcreased as shown in the
figure. With the same agricultural production Ay, manufacturmg production increases
from M1 to Ma. This happens because increase in- agnculturai productwnty means that
fewer resources will be' reguired: in agnculture “These’ addstxonal resources can be
shifted to production of manufacturing products thus increasing their production.

manufacturing productuor* /‘g ure’ igan input

improvement in quaixt\/ of raw material 1 )
mcmufacturlngmdustrylcadmgtoar.mueabc s e ‘*:’.‘..m.dqtput

VLA

lnward shift in PPC : S . ,
It takes place due to fall in guantity of factors of product:on deterloratmn in quallty of factors

of production, and negative net investments.

economy will be able to produce fewer

GoodY N LT
Fall in_quantitv. of resources means that | . . . -

goods and services leading to an inside
shift in PPC.

Deterioration _in _quality of _resources
reduces productivity of the factors. of |
production meaning that economy. can_:
produce fewer goods - W|th the same

resources.

- Good X
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‘ ffect the tw

the changes are hkely to a 0 800d
i ’ iftin PPC depends on how
Exact impact on the shi

under C(:m:de:\atlc:; in resources Is likely to affect both goods in PPC then, PPC will Shlft '"Ward
o Ifthechan .

parallely as shown in the flgure above

o Ifthe change in resources affects Just one good thel_, ‘

i prOt mward i

Combmatlonoftwofactors T SR Wy Py onsidered. .08
Each factor has to be consrdered in rsolatlon and'then an ove_ralll lmpactnee‘js .tq be 99?“."”‘?"- A

An increase in one resource and a decrease in another resource. : ft : mwgrd Exac.t Co
Increase in resource shifts PPC outward Decrease rn another resource shirts:

effect cannot be predicted. It depends on the strength of each rmpact If the xmpact of mcrease
in a resource is greater than the impact of a fallin__ ;
resource, PPC will shift outward and vice versa.

Apricultural ]
Product
Increase in_agricultural productivity and 3 fall in e e
manufacturing productivity - . ... . _L\\

Increase in. agricultural producnvrty means that". S ,_“4 ‘k
there is an increase in maximum agricultural |- - [ N
production. A fall in manufacturing productivity | - v h
means that there will be a-fall in maximum

manufacturing production.  The net rmpact |s_
shown in the figure. =~ = .-

o 'Mandfncturlng" *
- product -~

3.4 Capital goods or consumer goods

One choice facing an economy is how much to spend.on consumer goods and on capltal goods
The impact is elaborated in following pornts ' . . : . o
e Spending on consumer goods mean that .ndmou s .VH be able to enjoy a hrgner

standard of living in the short run. However, this means less investment in capltal goods )
which may lead to fewer goods consumed
B . in the future.

Consumer

..+ Spending on capital goods increases the |“"™ 1 <
capital stock of the economy that leadsto | . .-
increase in productive capacity of the [ = . .
economy. The exact impact on - the
economy depends on. the. size of

- investment and capital consumption. .. -

£L e

CAPITAL CONSUMPTION is 2 term “used- to. |-
describe the amount of capital that is used up
“(worn out) during the process of production. This

T m "m' ‘.-'-.:.';_ s

HEREY
Capital consumption

- Capital gooas | 4o

Scanned by ‘C'a.rn'Sca‘nner



|

3 —Production possibility curve

is also called depreciation and i
is assumed tope area ’oa’ In lhe ﬂgure

IN\flE?;wa[ ':: I8 rt:; c;eatlon of capnal Bo ds in the process of productnon and’ can also be
defin y production that is not for cur ent consumptlon 'GROSS INVESTMENT is the total

quantity of capital goods produced in the economy .NET INVESTMENT i gross investment.

minus Capltal consumption.

Net ]nvestment = Grass In estment - Cap[tal consumptwn

if

If investment is greater than capital consumptlon (positnve net lnveatmeLtL there will be an
increase in capital stock of the economy ledding to an gutward shift in PPC. Investment in
capital stock will mean that fewer consumer goods are manufactured leading to a decrease in
living standards in SR. However, this leads to oUtward shift in PPC which means more goods can
be consumed in the future leading to lncrea;se in living standards in LR. Therefore, there is
trade-off and the economy has to decide the optlmal level of lnvestment

If investment is equal to capital consumption it wull jUSt malnt“' the capltal stock in the
economy and this is the minimum investmentirequired to mamtam productlve capauty and
PPC. ' K e v R

If investment is less than- capntal consumptlon (negatlve net mveftment_), |t wnll mean that the
capital stock in the economy will fall over time. Individuals will be abic 1o enjoy a higher Jiving
standard in the SR but there will be a fall in living standard over time as PPC shifts inward. 'Less
investment will also mean that guality of an econamy’s capital goods remains underdeveloped

and full benefit of technology will not be enjoyed. RIS ‘

3.5 Choices for developing econanies (very ;xuu; f.q,\/elopmg econocrmies}
DEVELOPING COUNTRY is characterized by low standards oF living. These countries need to
prow_capital stock if they want to grow and improve ther tiving standards. However, these
countries have very few resources that are hardly sufficient te maintain SUBSISTENCE LEVEL OF
CONSUMPTION, i.e. the level of consumption that is needed to keep the population alive.

« Problem of these developing countries is " comumer’ - - iy :
that almaost all of their resources are’ | #ood . fr
devoted to subsistence. :

e~ They are not even able to invest equal to
capital consumption esultlng in anf :
inward shift in PPC in the LR leadmg to_
food shortagesin LR. :

¢ If they divert resources to produCtion:_of;
capital equipment, it will reduce
production of consumer goods leading to
problem of survival again butin the SR. .

o

LI TP
i
S

. -Subslstence
SRR AN TS

[
o

s Capital goods

e ——'
T

Capital caf'nsumpnon )

—
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. 3 = Production possibility
: Cu
e W' ’ ’l,".': : * .. rve

nt is ecLual to 02 (capltal Consumptlon) there +,
tment is- less than @, it. wnll be d;fﬂcult to 8

The f‘gure explains th|s concept If eross mvestme
would be problem of subsnstence If gross mves
sustain current levels of consumptlon

Solution to this problem is that economles can try to. attract foretgn c}iréct‘ lnve"s;t-mte'_'t'lt,‘_'?'jld '6},;“_‘;,:
fore|gn dEbt o . e PRI R SR
These will enable economies to increase thelr capltal stock wnthout havmg to dlvert theur own.
limited resources away from consumption. However, it can result in following problems: - '

« Foreign debt will increase indebtedness and this will mean that these economies will
have to pay a higher proportion of their income in debt pane”tS If foreign debt is:
invested in inefficient projects (which commonly happens in less develorJEd countues)__ :
this will mean that there will be an addltlonal burden on the eronom‘/ - S

« Foreign direct investment will add to capltal stock and improve ‘economy's balance of :
payment. However, foreign firms will take away proﬂts ba\x to the;r ceuntnes inthe -
future and may also exploit workers and enwronment oy L

* Aidi is not SO forthcommg and is usuaHy MSufﬁCIent

Developed economies thete.fore feee a'major 'c}halle_nge‘ in_’te;h't$ oﬁ'rf:soi;.ﬁée aliocation.
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4 Money = S S e

MONEY is anything that is generally accepted as a means of payment lt mcIudes national
currency such as dollars (US), pounds (UK), euros (EU) and | rupees (Pak|stan) _Apart from notes
and coins, it also includes cheques, credit cards and debit cards. Coins or notes themselves have
little intrinsic value. Their value comes from the fact that sellers have complete confidence in

money and are willing to exchange goods and services in return for money Money can also be

in the form of a valuable commodity such as gold or platinum.
[ ]

NEAR MONEY are non-cash assets that can’ be qmckly turned mto cash such as
government securities, foreign currencies, savmgs accounts and certnﬁ’ates of deposits.
These assets contribute to the liquidity of the banks by prowdmg a supply of cash if this
is needed to meet liabilities to depositors. LIQUIDITY is the extent to which there is an

adequate supply of assets that can be turned into cash. LIABILITIES are debt obligations. _

\
N
Cr

4.1 Characteristics of money

It must be noted that money does not need to have an intrinsic value, i.e. . coins and money may

have no or little value of themselves. Value of money comes from the confidence of buyers and
sellers on money and its ability to be used for exchange of goods and ser\nces For something to
be characterized as money, it must have following characteristics.’ -

e It must be DURABLE, i.e. it must retain the same‘éhape form, and ru‘bstanre over an
extended period of time. Durability also includes social and institutional durability.
o It must not easily decompose, deteriorate, degrade, or otherwise change form.

o Durability is critical to money to perform function of medium of exchange and

store of value. People are willing to accept an item in payment for.a good if they

have confidence that the item can be tradzd 2t 2 later time for some other good.
An item works as a medium of exchiange s
transaction to the next. ‘
o Refined materials such as go\d

H./Ll, cou

used as money hecause they are extremely

“.:.c{se it stores.value from one

=7 G mckel have mstor\cahy been
durable. =

Organic producls such as lettuce, ice cream or raw meat are not used as money
because they areperishable.

of modern_money, e.g. paper currency ‘and bank’ ‘accounts, depends on the
durability of\soc:a institutions such as bahks and government. Ability of paper

currency to act as money depends on the mstttutnonai stability of the
government.

o It must be DIVISIBLE, i.e. it can be lelded into smaller denommatlons that can be used

in exchange for goods of varying values

o For anitem to function as medlum of exchange et be dIVISIble 50 that it can

be used to purchase a WIde range of dtfferent goods such as cars and bubble
gums.
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o Metals (gold, srlver etc) have been W|dely used as money b 2C:

divided into smaller units. . Lo
o Livestock on the other hand has llmrted use as money as it cannot be et,s,,y

divided into such small denomlnatrons to buy sweets.
& Paper currency and bank account balances are easrly drvrsrble to match the vﬂ,ugw, ‘

of every good and servrce in- the economy For example, $1 can be converted'

into 100 cents. . D b . o
« It must be PORTABLE, i.e. it can be easrly moved from locatron to another locatron to -

complete exchanges. Ifitis difficult to carry money, then, trade will become dlfflcult X
0 Metals can be easily transported and. have hlstorlcally been used as money
However, ga_pe_rgrr_re_ﬂ_c_y replaced"metals because it was llghter and:easrer to-

- carry.’. - AR

o ltems that are phy5|cally heavv relative. to their: value in exc
portable. These may mclude thrngs like maple syrup, economrcs textbook and 2

radio.
-» |t CANNOT.EASILY.BE. COPIED R e o
o An item will i “=~its function of medlum of rchamel rr cari easrly be copled =y
and is available to everyone. It will'lose rtsvalue ifitis ec'sn\, copied: SN A
o Government prevents unrestrlcted dupllcatlon of maney. GCMemment controls R
the total amount of money.in circulation. Paper mcney can oniy be prmted by
the central bank and hence holds.its value. lounterfeits threaten this .
characteristic but government takes steps such as. redesigning; paper currency, ‘
adding water marks, mlcroscoplc prlntrng,' 'and magnetic . strrps to rr'ake
counterfeiting dlffrcult _ A :

e It must be ACCEPTABLE to both buyers. 'and.sellers “Unléss-money:is’ acceptable trade R
will not take place and the buyers and sellers will have. to resort to barter trade Thrs will
make trade slower, time consuming and cumbersome _ A y S

» It must be RECONGNIZABLE, i.e. people can easrly see! the rtem .

It must be UNIFORM, i.e. all versions of the same denomrnatron of money must have :
same purchasmg power. For example, a Sl brll prrnted rn 1998 would strll be able to buy o g
goods worth $1. : D e T R LT L

It must be SCARCE, i.e. itisin llmlted quantlty lf !t is easrly avarlable it wrll lose its value
There must be STABILITY IN VALUE of money, i.e. it must retain/its value, One ol the
most serious defects of modern money is that it may be affected by mflatron

j:a'fé'hdt easilY i

4.2 Functions of money
From economists’ point of view, money has four necessary functrons

e Medium of exchange : RS S

o Unit ofaccount S

e Store of value, e G

 Standard of deferred payment o

o
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i) Medium onXC':“ti‘;t buyers use for purchases and that sellers are wnlllng to accept in
y is @ medaiu

Mone h rchases. For example, notes can be used to purchas.e a bottle of Pepsi.
ge for pu

exch tial characteristic for anything to.act as a medium of. exchange is scarcity.
e Wle and acceptable to sellers. Otherw1se they will have 15
Money

§:\\\\\

NN NN\

Z
resort to barter trade. Tt should be portable and divisible, otherwise it will be difficult to “;
carry money 5y or to buy goods of lower denomlnatlon : //f
This function of money ,‘removes the need for double ._comudence of wants)ar'd //,/
therefore facmtates trade.- ‘, ORI LR L //

e It also separates the transact|ons in tlme and place because sellers and buyer: of z
commodity are not required to perform the transactions at the same time and place 7

@ It gives freedom of choice as consumers can buy a bundle- of goods and services. It
increases competition and widens the market.

@9 It facilitates exchange and helps improve economlc efhaency by allowmg specializaticn =
and dlwsnon of labour.

v
N

(if} Unit of account :
Money is used as a unit by which prices are established in doll:* s and cents. This function
_applies ta both current and projected transactions. _ ‘—"_—”‘ ;
¢ Money can be used to price goods and services, e.z. 2 bottie of mineral water. it z
eliminates the need of guoting the price ofgooos. in'tarms of other goods as in barter,
e.g. quoting price of sweets in terms of chocolates .+
« Money can be used to put establish exchanee'ratee‘. RN
It is also a means of establlshlng relatlonshlp bc WER YA
Slisequalto 100 cents. ,
This function facilitates accountlrg\/alue of mon ey can be. recorded and summsd,
accounting transactions are recorded in monetary vaiues. "
The function is also relevant for future transactions,

< units of a currency,

v
(0]

©

U.l‘l

for instance' when mene s
borrowed, the lender can add interest payment to tell the barrower how much ne will
have to pay in the future.

(iii) Store of value/wealth

Money can be held or stored for a penod of tlme before it is used lt can ‘be accumulated to
, provnde 2 source of wealth. : :
el To act as a unit of account, the good chosen must be something that is durable and can

be easnly stored. Also the holder of asset must have confldence that the asset will retain
its value over time. ' : 2 2 .

Money as a store of value IS used to meet unforeseen emggencnes and top ay debts.
Individuals’ wealth can be stored in. a range of assets and notjust money Other assets
in which wealth can be stored:can include bonds, houses, land dlamonds gold and like
that. The benefits of these assets can be that they generate income; and that their value
may rise in terms of money. However, they have drawbacks such as hlgh storage cocts,

]
T
!
r
\
7.

o P
i
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deprecratron in some of these assets, and rlhqwdrty of some of these assets 50 that the #0
cannot easily be converted into money. -
« Money is one way of storing wealth.: For. examp|e coms and notes bank depo’its g
bonds; stocks-and other forms of holdlng money can be. used as the basrs for Storaﬂe{. :
over time. Their- advantag s security, convemence and hq,urdrty HOWever the
drawback is that value of money may fall due to lnflatlon i

(iv) Standard for deferred payment : - S
Payments to be made in the future can be denominated in money terms in Just the same way,

as can a payment to be made today. Money is acting as a unit of account here w:th an added REE

dimension of time. If money can perform all of the first three functions, it will also act 25 a

standard of deferred payment. And a failure in above functions can lead! to a, farlure in the-
function as a standard of deferred payment.

» Money has simplified both the taking and repayment of loans unlike in barter where the

repayment of loan that was taken in shape of a horse or a commodrtv was drfﬁcult :

o It simplifies credit transactions that allows. credit. to be )ntroduced in the economy._»

Money facilitates borrowing by consumers to buy houses and like that; and by frrm, to’

invest. It helps in selling of shares and debentures that can used to buy_caprtal leadmp to
shifts in PPC, ‘ - : %

If value of money increases over time (such as rn deflatron) the credrtors gam and” :
debtors lose. If value of money fall over time. (such asin mflatlon) the borrowers gain .
and debtors lose. The uncertainty over fall in rise m value of currency can be overcome )
by linking the value of debt to a price index which measure rnﬂatlon Such mdex hnked
contracts help protect the purchasing power of 1 money g

Clnflatron and the functions of money% .
Inflation is the general and sustained increase in- prrce levels over tlme Inﬂatron adversely -
affects the functions of -money. However, the affect depends on the severlty of the rate of -
inflation. o : e ; : .

Low rates of inflation wrll not- have a major rmpact on the medr of exchange rt .s', .
only when there is hyperinflation that people start losing confidence in money and'may

resort to barter However, even in hyperrnflatlon such as m Zrmbabwe money was strH c
used. : :

/ The unit of account is affected by rnﬂatlon’

fifficult to' comparef" el

values over time. A nomrnal rise in: GDP can be‘due to"a rise’in.output evels or arise |n ]

price levels. To fmd the real change’ m GDP we need », o-'m é'f
figures.

/ Inflation also affects the store of value functron Fall in value of money due to’ lnflatronr_ o
should discourage " sigs as these would be ‘devaluéd.: People: may try. to.find ..
alternative means of storing their wealth such as gold, fofeign’ currency,iland and. rndex-'.,..-

linked financial assets. This is especrally true when. the real rates of’ mterest (lnterest Iessv-

rate of inflation) becomes negative., However some’ studies show" that mflatlon may g

ents to: nommai R
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actually result in a rise in savings as people believed they would need higher real
reserves in the future, =

1 L8 - I3 . ' P
o Inflation also affects the standard of deferred payment functron Busmesses may be 2?
e unwilling to ong periods of time if they fear a décline in value of money. /
However, people will be more. wil 0 borrow money as the real value of debt falls ¥
due to inflation. ' 3 o — fo
« Inflation may also affect demand for currency High rates of lnflatlon will make the - /fé
currency less acceptable internationally cau causmg a fall in lts demand and a fall in its P
value. —_— e - 5}@
Conclusion : : T L e S 7
It is important that money performs its functions for smooth working of all economies. If any of i;’j
the functions breaks down, people will lose confidence in money leading to economic collapse- =
Government_economic policies therefore try to ensure that functlons of money do not break
down. Otherwise it may lead to collapse of the economlc system e
4.3 Barter

In the zbsence of money, transactions take place by use of barter BARTER is

exchange of one good or service for another For mstance a. buyer may buy wheat by giving .
cows in return. ‘

Drawbacks of barter

Rarter has several drawbacks thet are hsted De\ow

There must be double coincidzence of wants. Both buyers and sellers must have the nead

for the goods and services that they want to axchange: In the absence of double

coincidence of wants, trade will not tzke place. rherefore, -the goods must be
not s

acceptable to both pariies otherwise trage will not take place. : :
« Goods that are being used in parier mey be nortable hence it wrll be difficult tc
Bl v iekclea

carry them resulting in reduction in trade and econormic activity.

Some of the goods (e.g. car) may r.m be Jr\'s,hlc' anc hence will not be able to buy
goods of lower denomination. : f

e Thereisalackofa w makmg trade dlff\cult as |t d\fhcult to find what
the market prlcefor exchanging goodsis. - . A : »

Future payments or contractual payments would be very drfflcult to make under barter’
system. :

Storing goods will be difficult as some goods may not b durable (e g |ce), and for

others individuals will incur heavy storage costs and the\r value may also declme over
tirne. : '

e Perishable
—_—

goods will need 'to be fraded quickly otherWiSe‘t_hey 'Will' Ios'e their value and
rot.

Bazrter trade is therefore slow, cumbersorne, time consuming and very impractical
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« Barter also forceslndwuduals td b
specialization and hence results m

Benefits ofmoney ' - |
If buyers and sellers have complete confldence in money, then lt w1ll have followmg beneflt, .

It will facilitate trade because there is no need for double comadence of wants
m Individuals, firms arA notjons can. speuallze in producmg certam goods and Servlces'

because trade is NOW edsy. e e |

@ This leads to improvement in productuvnty levels, hlgper output and lower COSt of
procygtlon :

Higher output levels leads to hlgher employment Ievels hlgher income: levels ancl better ;

living standards TT~——— Lo -—/”7 o ;

~./'/ Money 7 also facilitates mternatuonal trade and the economlm eet rubfequent oeneflts of &

trade. o ; A

‘s Money can be used for mal&ng future paymentg harafore credlt can be E'ISlly

</ introduced. in the economy that leads to . hlghev deimr "l, l"’l[fh" output-“ancl more ", '

employment opportumtles T L T e

Drawbacks: of money
Howeyer, money has its drawbacks too el : ,
\/The major drawback of money is the potentsal inflation that may result lf aovernment
prints too much money. High inflation levels may reault in a loss.of conﬁdence m money .
leading to a failure of the system. - : IR §
Another major problem with money is counterfeltlng Government needs to ta'<e steps ‘
against counterfeit notes and introduce measures that ‘restrict counterfeltmg In the i
absence of such steps, value of money will fall and people will lose conﬂdence in money g

It can therefore be concluded that introduction of money-in a barter economy will ac:l tate .
ati nal trade Thls leads to im roveme e
trad},,umprove efﬁcuency and increase internatio | p ntug ,

standards as well. ; o \/————
b‘-‘_- ,’ . ! . . N
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5 = Specialization and Division of labour

5 Specialization and Division of Labou, ¢
OUR refers t

;Io?mt is deﬂneg gfot?"e i e working age who are hoth willing-and able to work. LABOUR

' efers 10 both employzdm;aldnumber of worker € available for work. Labour force

contribute to prod TEisT of Nd unemployed and includes all males and_females who can

—_— 800ds and services (normally aged 16 years and above)

5.1 Specialization

SPECIALIZATION is the process hy whrch mdwrduals frrms and economres concentrate on
PlodUClnBt ose BOOdS and o rrr—eed —E———— s e
services where they have an advantage over others.

e Specializa '
cgncentratt‘r(::; Z:OWS % firms and nations to become more efficient by
a particular activity. Thb leads tQ urpluses hat are sold to others to
earn money, -L e

h“ . ‘
* Nooneis self-sufficient as People firms and economres concentrate on producmg a
limited range\of‘goods and services. It therefore’ becomes necessary to exchange or

trade-goods and services.. Money earned. from trade is used-to. buy the goods and

services that they need and which are produced by other people. TWne‘/ is theretore
essential for specialization and trade to take place.

Different levels of specialization

 Specialization by occupation where individu

concentrate on these (e.g. teachers and i
allows them to concentrate on jobs for vini:
s Specialization in the workplace - division of |
¢ Specialization by firms where firms anc ENSSeLle
One firm may specialize in cne.industry, 2.z. fuce, 26Hc a t,tner frrm in another mdustry,
e.g. automobiles. Within onecorn,mn/, ststiilst 'a.-.»rtone: ma\/ produce particular

components which are then assembled at another factory. - ) :
Specialization by region where a particular region in a country specrahzes in the
production of certain types of goods or services. For example Sialkot in Pakistan is
famous for its sports industry. Multan in Pakrstan concentrates on agncultural
production, especially ¢ of mangoes and cotton. : ; L S

« Specialization by country where countries focus on producrng those goods and services

quire particular skills and

in their occupations). This

Q)

in which they have a comparatrve advantag\ This depends on the factor_ endowmert——

e.g. Saudia Arabia has " abundant oil reserves and therefore specraT'ze in oil; Pél’(fs’fﬁ
abuhﬁrt arable land with_suitable climate for agrrculture and therefore specralrzes in
agrrculture and agri-based mdustnes :

._—-f

.

Benefits of specralrzatlon ; e - o :
e At an individual level, the beneflt is that rndrvrdual can specnallze in one task that
improves his effi :
o Atafirm \e?%eﬂt is that flrms can practrce drvrsron of Iabour and can get the
(AL SR AR AR AA 2
d elow : T e
associated benefits as dlscusse b
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T s 2 Specialization and Divisign s ¥

o At regional and national  level, the beneflts Of spet:lallzatlon_ re: dlSCUssed in .
international trade -along with. the theory of comparatlve advantag “Regioria) 5 and.
national specialization allows rise in world output and a rise in world hvlng standa,ds :
National specialization also allows trade to take place: that results in outward shrft in

PPC.

Risks of specialization

e Specialization means that no one is self sufhcrent Therefore it mcrease the inter-
dependence of people and natrons on each other Thrs 1.3 eSpecrally rrsky for nations if
political conflictt result in reductlon in trade and natlon "output_grvrng rise to
unemployment. ¥

* At an individual level, the risk is that the SpEClalHt skrll) of an indi vrdual may becomo

'

redundant to changmg technologies. lndlvrduals therefore neéd 1ok i
skilled and to be. able t6 move between occupatrons lf they w acT: l
the rapid pace of technological change Wt e E
At regional-and: national level the rrsk is. of over specrallza uOr" fvhore 3 change in
consumer tastes can mean that the goods and services produced by a region or country
are no longer demanded in the same quantity. This results in a loss of output and GDP, a -

ise in unemployment, a falwg_star_t_dams, a fall lrl_b_aiaﬂce_oﬁp_ayments and a fall
in exchange rat _ TR L

Specialization depends on following factors

People’s ability to exchange what they make for what they need
medium of exchange.. : : v

* The extent of the market - lfa market is very Iarg th‘en _mass’ produc :n can take place

and division of labour ‘can be rntroduced On the’ other hand nrche markets serve a’
small market and do not allow division of labour-to, take place

¢ Need good transport facilities for the distribution of goods — Developments in air and
sea transport have made it possible to. dlstnbute goods m an mternatlonal market

:nble and multr-
ac ully counter g

using-money as ai

5.2 Division of labour - . ‘ R TR LN
DIVISION OF LABOUR refers to specialization by mdrvrduals where productlon process s
divided into small tasks and one worker is specialized to perform one task only. Adam Smith, in

" his famous book ‘The Wealth of Nations’, described how division of labour amongst p|n workers
lncreased their productivity levels manifold. : .
e Firms break up the production process intc a number of smaller tasks :
¢ The product is made = -~an ssembly Iln and the product moves rather than’ the
workers, R "
e Each worker performs a partrcular task and the fhrshed artlcle at the end of the
assembly line is the combmed effort of many workers :

‘‘‘‘‘‘‘‘

| i e as b A #n 8 ] ey § 84 b+ g vy
L
P g Y N
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| Specialization and Division of labour "

This leads to m ¥’/f
L1] w
OLe_lraining for Workers maklng them more roductwe “to less %

movement of workers hence s ﬁ.__—d 7

q _ e;'to use of more tools and machlnes that %

improve productivity of workers anH_lll‘(é"’t‘hat- : 7

! % "' : . &;

genefits of division of labour : :;é
L it

S Specialization enables workers to gain skills in a narrow range of tasks thus making 7
workers more productive, v _ _ ; : 5‘35,’

. . ¥

v Division of labour makes it cost- effectwe to. prowde workess with SpeCIallSt tools that '

can be shared by the workers and i |mprove thelr productlvrty
o Itenables th§ greater use of machinery’ technology and the use of

_,a\/t/lt reduces the'need for labour leadlng_@lgw&uiuable.msts.
o Time is saved

L

2T
R

catah

r
<
D

R

because a worker is not constantly changmg tasks movmg 3"°U“d from
place to place and using dlfferent machmery and tools 8

Workers can specialize in those tasks to which they are suited
<=1t leads. to deskillin (tasks are often’ simple that need lower- skills

AN
3N

\at need lower- skills) and.therefore firms /5
.can pay lower wages. = . S A - 7
¢ Itallows manufacturer to take advantage of economies of scale. lfi
e Higher productivity leads to lower cost of prod\gtjog that makes a firm‘s output more ':;
competitive and firm can also-lower prices. o : : E
» Without specialization, economies and. workers w1|l need to become self—sufﬂcrent in ;’:,;
order to survive. This limits their choice and deteriorates standard of llvmg :j
s ltincreases overall proguctivity in the economy resulting in-an outward shift in the PPC.
Limitations , B}
s Work can become tecious zng racnot

\Onoton DU ieladlng'j t‘t;f3bor§a¢'ﬁ1;jml‘s’takes; industrial
unrest, loss of output and poct guality, : =

ot requires eskullmg that again rrlckes W\JTK -e'“s mteres _1ng e'adlng 0 emotlvatlon
/ As size of factories become larger, workers becorme dnstant from managers leadlng to
\/

demotivation and less control.

Thare is greater unemplovment asitisa capltal lntenswe process

oL &
l Size of market sets limit on division of labour. Firms in small markets may not be able to ,.é
l specialize and instead produce a variety of goods to sa’nsfy the market _ » F.;
_»"" Over-specialization can be dangerous if the demand for-the product starts to fall. This L

will lead to higher unemploymentin the area. ‘ f

e Production processes in division of labour are closely linked wrth one another. A E

breakdown in part of the chain of production’can halt the Qroductlon process. For §

instance, 18 Toyota production plants in Japan were brought- to a halt for two weeks in :

1997 when the factory. of the. sole. suppller of brake parts- i _japan was :

P destroyed in a fire. A _ :

: 2 Specialization will __ggc_l_gic_h_a_r;g_g which effrcnentlv takes place only m\the presence of - !

v money.

/ Division of labour leads to standardued produc’ts and a lack of vanety because each
product has passed through exactly the same process

......

AL
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There is a greater risk of unemplovme’htv"ly'f“}dénljlénd for .rg'.vom"é: Boods ’de'c‘llné,‘:rh'e ‘
unemployed workers will find it difficult to find jobs in ather industries due 10 lack of
skills.

Conditions for division of labour. SRRy CORI P R
Division of labour is most suitable in following cohdltlons e ,
o Production is in very age quantmeJ (mass. productlon) such as m the“'c,la's'e bftonéqine;_
durables like cars, televisions etc. ‘ I : i
e Thereis standardization of goods where all products are alnke or where parts are made
that can be used in several different productr ST i b i x
o There must be a medium of exchange such as money r)lhcr\m se specualnatlon wull mean :
that workers will have surpluses that they cannot se Al suc h 35.2 baker wuﬂ have a lot of
bread that he finds difficult to sell. : N S ,
¢ There must also be good transport facilities that aid in :ran,:»:;::ortation of goods from one
region to another,
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¢ Economic systems (drfferent allocatxve mechamsms) S : 7
gasic economic problem . Lo RRELIR : i b,g
The basic economic problem is that of _c_agcﬂy Wthh stems from t” ) fact that an economy has "/ﬁ
limited resources and unhmlted wants Thns mea[_s thet all o‘, 'the Wants cannot be satisfied - j"/;:f
which leads to the problem of scarcity.- : e : ’f
o Scarcity can also be shown on the productron possubrlnty curve (PPC) The boundary of /
 pPC shows the opportunity cost of prodqcmg proddéts":At any one pomt :an ‘economy q:’
cannot produce more of both goods if it operatmg on PPC All of the area above PPC Z
hence represents scmrwe economy. ' G S : f”?
¢ Scarcity means that the economy has to make ch0|ces and the governments have to ask ,vf
themselves following questions — what is produced, how they are produced, and for ¥
whom are the goods produced. The answers to these questlons depend on what

econom\c system a government decides to operate.

==

ECONOMIIC SYSTEM can hence be described as the. rr]_e_'afnj'or the allocative mechanism by

which its people, businesses and government make_choices. Within an economic system there
will be various actors mcludmg

yo individuals — They are cgnsumers and pngugers They may own factors of produc‘clon
P F”&"f that they supply for productlon purposes.
L

Groups — Firms, trade unions, polmca| pames famlhes and charltles
—”‘. _—ﬁ ——
,* Government - Government “might ra'\ge from local authorlty to . a national or

international parliament. It establishes ang influence:; 5the relatlonshrps between groups,

Pur & for instance, through the passing of the law.

Economists have recognized three distinct types of economicsystems. |
) o Market economy :
¢ Command or planned economy
e Mixed economy

6.1 The market economy (free market economy / cap’itaiiSm/ LaisSez-Fa’ire
system) - e
FREE MARKET is an economic system in whrch resource allocatlon dec1s:ons are taken by

househalds and firms through the use of pnce mechanisr
from the

jth no or minimal interference

¢ In a purely free market. economy, there is. no government mterventlon However in

reality governments. have some mterventlon to check the. operatuons of the market and
to ensure availability of essentlal goods and: services suchidefenca _
e This is not a very realistic model and there . are’ very few;if any, examples of market

economy that could be found. The closest economy to a free market will be that of USA
and Hong Kong. , _ . : A .
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Characteristics of a market economy s
Following are some of the key charactenstscs of a_market economy“ . _ RTRNE
* Ownership:Nearly all of the country-_ _factor "'of prodUctlon are/owned prrvately by
individuals or groups of individuals. They then- rent them out to theé firms so that they ‘
can produce the goods and. services. Government has- a very limited role. 5unh as
upholding property nghts of these prlvate |ndIV|dua1s through the 1egal system ,
Objectives: Everyone in this: system As- motrvated by pure Self-interest.” Consumers'

maximize their welfare. Fnrms mammuze profrts anate individ uals who_ own the factors-f :
of production, aim to maximize rents, wages mterest and proﬁt ’

Free enterprise: There is freedom of choice in both productlon and consumptlon Frrms
can sell anything they want and try to respond effectively to consumer demand.
Consumers are allowed to buy anythmg that is sold by the producers Workers can take _
on any job they want. ‘
The level of competition: The level of compet\tron is- axo ct 3d~ to: be very. hlgh It is
assumed that nearly every market is a perfectly competitive crs, with riumerous buyers
and sellers and-no barriers to entry or exit. Firms are f::;'r.rer.mge,,csper.arely for
customers and the consumers are competing with each other for the goods on offer.
Allocative mechanism is the prrce mechamsm MAR (ET 3 "“H,i'\é“"
where decisions on price. and quantlty are 'made on b2 snd and suoply
alone. Price_mechanism allocates the economys remi rcec ‘Z?rT'OUL,"I ecf'mterp!ay of ..
- demand and supply forces. Price actsas a signal and an ‘nceht, e foriproducers toaztin”
the required way so as to maximize their gain, Wthh in turn, upumlzes the allocation of
resources in the whole economy. ngher prices . mdrcate hrgher demand lﬂvela or s
shortages and producers shift resources to produce such- goods Lower pnces indicate SURE
lower demand levels or excess supply and producers shrft resources fo other goods
e Decentralized decision making. There is no smgln body whrch allocates resources wrthm
the economy. Allocation of resources is the result of ‘countless decisions by individual
economic agents. This is as advocated by Adam Smith when he referred to an invisible
hand (self-interest) th.. “csultsin socially desirable aIloCation of resourc_es._. B

A is the process

N T (P eerva—y

Answering the three economrc questrons e e e
What is produced? ST
in 3 free market, consumers, producers and the owr\ers of the factors of productlon mteract ,
with each other to allocate economy'’s scarce resources. Everyone is motrvated by pure self- * e
interest. Consumers are trying to maxumrze thelr Utl|lty, ﬁrms;_a_re tryrrrg to" ma)umue prOfltS : PR
and owners of factors’ of productron are trylng ‘to'maximize their re ums, --.,_>_.:__ :

mechamsm decrdes what is. produced ‘There, is. consumer soverergﬂy A frrm wrll onlvi_j';_
od d if the consumer is willing to buy it. Therefore; it is the consumers who dictate
D ot sho ‘BdOC;) | roduced. And the consumer wnllmgness is represented in the’ form of price .
N aiam, Q1 Ztron of morality does not come into play in this system. |f consumers want - -
meCham:fm (i::?s will shift the demand curve for coffee to the right Ieadrng to a rise in prices.. ~
?ri;esrcg?ra;et'o producers to produce more coffee Thls wrll also affect the factor market Hrgher'

S ot i b b, et >
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increased.

How it is oroduced? - _ T
The firms will select that method of production which reduces their cost of production and
maximizes pr0f|t§. Co.m.petmg firms will try' to plt technical and economic_ efficiency into
practice. Economic efficiency refers to the least cost of producihg goods that are desired by the
mportant role in ideal mix of factors of
pend on the availability of factors of
cheaper than the scarce resource, In countries
i ap such.as in developed countries like USA and
Japan, firms use more capital-intensive processes. In countries where capital is‘éxpensive and

labour !s cheap such as in developing countries like Pakistan and Bangladesh, firms use more
labour-intensive methods. |

consumers. Price mechanism and market forces play an
production. The costs of factors of production will de
production. Abundant resource tends to be
where labour is expensive and capital is che

For whom is it produced?

Producers must ensure allocative efficiency in deciding “for whom 1o produce’. Consumer’s
‘money votes” decide what is produced. Those with mare fhbﬁei wiill be able to consume more
of the goods produced. The process is therefore biased in favour of those goods that are
demanded by the rich. Free market system tends to create an unfair distribution of income. The
wealthy consume a disproportionately large share of what is produced. -

Role of government in a free market economy

In a pure free market, government does not directly interfere with market forces. However, in
reality, government may have to intervene and maintain a limited presence. It may have
following roles to play.
s Government provides public goods that are not produced by private sector. These may
include defence, judiciary and the police force. 7 bt e
+« Government raises money through taxes to pay for iis e::menditﬁré.'
e Government issues money and maintains its value, N

Government needs to ensure an adequatz legal framawork for the-allocation and
- enforcement of property rights. There also :ieeds_-to-‘be Iaw$ about contracts of
- purchase and sale. It must be illegal to destroy other people’s property wilfully.
©  Government must have powers to break up monopolies, prevent. practices that restrict
- free trade, and control the activities of trade union. -~~~ "1 - ’

The government therefore has a strategic role to play in a market economy but it should

intervene as little as possible. ‘

Advantages of a Free market economy
~ Free market economy offers following benefits. - "
» Efficiency. There are many incentives in the free market that promotes efficiency.

N

’
-
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* Firms try to become more efficient becauee of h,gher competrtlon and pmf't >
motive. They try to reduce their costs to remain compeh‘clve and to. increase « -
their profits. Firms . will contmuousl\’ ‘UOR for unprovlng the" processes and

reduce waste to make thenr good§ more competrtnve Thns Ieads to effrcrency m:"_
the economy. SR : e

e Workers will try iu Cecome more effc,ent and productive as hlgher productrvrty
leveis will usually be rewarded with higher salaries or bonuses o

* Consumer sovereignty. Firms will produce those goods that are demanded bV the - |
customers. It therefore makes consumers ‘more powerful a”d they lnfluence the
resource allocation decisions if their demand changes. | :

« Choice. There is more competition in the market and frrms wﬂl produce products that it
are demanded by consumers. It therefore leads to.a large choice of goods and services. 3 B
that are produced in a free market. Workers also have more chonce in terms of the :-.
occupation in which they intend to work. : SHALRE T ot

« Innovation. High levels of competition and proﬂt motlve W|” fOl’CE frrm t0 become
innovative and introducenew products-in-the. market Government (wrth its hmrted.'._
interference) protects the mtellectual property. rrghts of flrms through patents This. .
gives a further incentive to firms to mtroduce better quahty o'oducts and earn more T
profits. . ' : I ’ :

» Higher economic growth rates. Countries: whose economrc syrtem has been nearer to :

__the free market model have grown much faster than those with 2 t.O"ﬂ“"TDﬂd economy

e Other benefits include the following: g nrs ik Gengel oo Rl g

e Higher production leading to rise in GDP greater taxes n.er'er .come Ievels and '
improved living standards. : R :

e Lower unemployment results from greater economic activity.

e Lower poverty levels are a result of rising incomes and iower unemployment

e« Nore development can take place due to greater tax revenue generated by the -
higher profits that governments.can investin burldlng mfrastructure 2

e Lower prices can result due to hlgher competmon and more effrcrency resultmg
in lower cost of production. e L T R WY SO

, o No shortages or surpluses: Price mechamsm clears the market that results ln no

o , o

shortages or surpluses

Dlsadvantages of a free market economy ;
Free market economy is not without its drawbacks Followmg are the keV'drawback 3
» Underprovision of pubhc and merit goods, and goods with positive externalttres - L
o Public goods (e.g. defence and street lighting) cannot be provided pnvate,y |
because of their twin characteristics of non- excludabnlrty and non- rrvalry 1h|s

leads to the problem of free riding and the private sector .cannot produce thosg R
goods. Government must therefore intervene to provrde such goods vl ‘o
o Merit goods, like health and’ educatron tend to be" under prowded |n a free .

market because of lack of information. ,
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Overproducti
e iot-of demeﬂt g°°d5 and goods with negatlve externallties.

o Demerit goods, lik
» like CIgarettes te
‘lack of 'nformatron,_ nd to.be overproduced ina free market due to

o Free markets lgnore i’ o
externalltres and t
externalities such as pollution. hEFEfOTE P’Oduce ore e

l;g:;:ﬁ:zitogn;nclbnodpol|es. Free markets can sometime fail to provide sufficient
ead to establishment of private sector monopolles that reduces
output, increases prices, and is less efficient and innovative.

Unequal “distribution of income and wealth. Free markets can Iead' to unequal
distribution of income and wealth where a few individuals end up owning and earning
most of the wealth and income of an economy. This inequality tends to increase over
time as rich keep getting richer and poor keep. getting poorer This can lead to civil
unrest and may eventually lead to political upheavals S '

e Resource allocation in’ favour “of the rich. Free markets WOrk on the prmcrple of
economic democracy where each dollar has one vote (unlrke polmcal democracy which
glves each person one votel Since rich own more. ‘dollars, they- also-get more votes.
Therefore, an economy produces more of the goods that are demanded by the rich and
less of those goods that are demanded by the poor

Conclusion

Many economists consider free markets to be the most. efficient system. In the long run,
assuming that there is competition in the market, free market must achieve efficiency that
results in best utilization of the limited factors of production. This should reduce the problem of
scarcity in the economy. However, since scarcity arises from lack of .resources, even free
markets cannot overcome the problem. Economists generally ronsrder this to be better than
other systems because of its efficiency. It must be kept’ in mind -“ougn that free markets may
=150 lead to market failure leading to government aCiio niocorrect lhe fallure

_,__,_—————'——

__g_’___d__,___d———"‘_—‘,m__;_._e R

6.2 Planned economy {Command economy., Coinmun ism, Socra--:m)

I a COMMAND OR CENTRALLY PLAN\lED ECOwOr\’l\' !'e.u)».\akc all ocatlon dEL sions are taken
keeping in mlno all (socral) costs and b Senefits of a-decis ‘on. The firms are
owned-bythe state and they do not operate for maxrmrzmg prOfI‘[S ‘Resources are allocated by
the government through a planning process. In a pure planned economy, €Very item is

allocated through-rationing from education and health to clothes and food.
¢ Pianned economies get their lnsplratlon from the works of Karl Marx who- crrtrcrzed free
markets and predicted class conflicts between ‘the wealthy and ‘the poor. He also
criticized use of capita tal as it led to higher. unemployment and- reduced earning
opportunities for individuals. He also criticized the system as ‘concentrating production
in the hands of large’ monopollstlc mdustrral and commercial organizations. His
isms are found to be excessive by many. economists. However his predn:tron of

critic
concentration of productlon systems has largely proved true..

by the government by
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¢ Inacommand economy, central government and other state bodres take r95p°“5lbillty
of the following: |
o allocation of resources, <
o determination of productnon targets for all sectors of the economy,
o distribution of income and determmatlon of wages, v
o ownership of most productive resources and property, and
o planning the long-term growth of the economy
» However, it is very difficult for all enterprise to be publlcly owned. Therefore there js 3
limited opportunity . for the prlvate ownership of small buslnesses such as shops
restaurants and personal servrces such as halrdressmg and cle‘mmg «
Planned economy is also an extreme of economlc systems and is not louncl in lt‘true o

form today. Most of the economres are mlxed today The cl0fest economy to a planned
economy is North Korea. "

* Democratic countries pursue snmllar but less
socialism.

extreme principles in‘the name of

Characteristics of a planned economy

Ownership: Nearly all of the country' s factors of prodru tion ar2 owned publicly by the
government (or the state). The only factor over which the g«

avernment does not have
total control is labour, but they certainly have indirect contro! ver the workers.

Free enterprise: There is no choice and the central authority ¢irects and decides which
types of goods and services are produced. There is therefore producer sovereignty.
Objectives: There is no profit motive and the state- owned enterprises work to provide a
benefit to the society. Consumers, workers and the government are all assumed tc be
working for the 'common good', i.e. collective social welfare.

The level of competition: There is very little competition as all the factors of production
are owned by the state. Howcver, there may be a black market that develops as a result
of shortages. And there: In be cornpelltlon amongst the black market firms. . . :
Allocative mechanism: There is no price’ mechanism. The authorities set the prices. They
set prices at low levels to make sure that everyone can afford the z,oods ‘This however

may led to long queues or creation of a black market. Government will therefore use
some rationing mechanism .,uch as setting quotas and - ratronr for famll:es and
individuals,

The planning system: Government plans how all the resources should be used They
decide what Is produced and what quantities, how goods are made (how much labouris
used and which method of production is used) and how the goods are divided between
different groups Iin the economy. Government directly set the output levels and price

levels. Government considers all_(social) costs and benefits when takmg a decisron and
therefore tries to minimize negative externalities such as pollution. S

There Is equality of Income and wealtlu lncome ls. very evenly dlstrIBUtecl

Considers all (soclal) costs and beneflts Government consrders alI costs to the socletY
before taking a declslon This should lead to a saclally optlmal declslon.

| -'Scanned by CamScanner
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Answer'"g the three economic questlons
what will be roduced?

The planners (or the government) decide w
planners may find it difficult to know what C
proguction of goods and services,
roduction of 00¢s and servi

hat Wlll be produced_ The groblem is that the
onsumers want. Thrs may’ Iead to over- or under-

How will will it be produced?
The planners direct the resources rnto
and there is no free enterprrse Planner

pro_qu_c'DLlﬂlEL:All firms: ar_e state owned enterprises
stherefore" et ods of productlon

For whom 10 produce?

The planner tries to be fair in d'St”b“t‘“g OUtPUt of the economy Wages are: determmed by the

planners. Prices of the goods are set bY the planners. Government is, effectrvely, determrnmg
how much each consumer can consume L Ly :

Advantages-ofacommand-economy G W
Command-economies have several advantages that are explarned below.
s Produce public ublic goods, merit goods and'goods with posltwe externalities.

o Public goods have the ‘the twin characterrstrcs of non- excludabrlrty and non-rivalry.

These are under- -produced in a free market Merit. goods such as health and
education are also under-produced ina free market

o Strong government will make sure that publrc and merrt goods are consumed at
the right levels and are provided by the government

Equal distribution of income. oxrong gover nment vvlll try to make sure that nobady falis
through the safety net. l'f will be's Fa.r ecr‘nomy' ven. though itiis lrkely to be less
successful overall. TR -' AR -

Control over negatrve externalities and defnerat,gwds. Government can ban demerit
goods. 1t can also try to use p!O""LIiO(‘ methods. *hac are’ envrronmentally superro in
theory, they should have been able to monitor pouutron levels closely, given that they
had control of production, but this simply did not nappen Command economies of the
80s had notoriously poor records on the environment. ; :

No duplrcatron of effort and._ reduces wasteful expendlture Smce there rs no
competition, a planned economy is able to avoid duphcatron of productron It also-saves
on advertisement expenditure which is considered by many as a wasteful expenditure.
Profits of the public enterprises are available to all citizens in the economy and hence
Create more even distribution of i mcome and wealth ‘

Dlsadvantages

Apart from having advantages planned economres have suffered-a - lo X due to therr
disadvantages. These are explained below. vyl :
. Ineffrcrency Planners are less lrkely to make the vco rect.decrsrons.across the whole
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6 — Economic system

workers tend to becom L
0 work and hence e
Equality in income creates a drsrncentlve t roduotlo“n st miaking: local fifms lesy

~less productive. This leads to increase in. st aod o deterroratlon of the
" competitive internationally. It results mrgd_uggglllrlﬂp————

balance of payments.
¢ Less chorc: The planner will be more concerned ‘with making Sl;;e thz:lre g;e enough
essential- goods to go around rather. than allocatrng resources e |crsn yh ween a||
goods. There will be fewer goods avarlable to crtrzens hence reducmg their choice.” e
* less innovation. There.is no rncentwe for the P anner-to be mnovatrve As long HS they et
produce the essentials the planners will be happy ' P :
« Low economic growth rates. Since the Second World War the co‘mmand economres ‘
have had the worst record in terms of economic growth S e :
* Red-tapism, bureaucracy and: slow decision making.. Since aIl decrsrons are taken bl’ o

central planning authority, it slows. down the decrsron makrng DFOCESS and leads to”
delays. o ' s : '

Producer savereignty. State- owned enterprlses and the central plannrng garn ‘mare
importance. Consumer demand-is at times. not considered. This-leads to-a reduction in
consumer power. . . ey e
Shortage. Lack of a proper allocative mechanrsm and low prices lead to shortages in the v
market even for the most essential goods. .This leads to excesswe queurng and
development of a black market for goods and services. ‘

Poor quality. State production can be of poor qualrty as there isno rncentrve to innovate
and improve quality. ‘

Conclusion

Planned economies of Eastern Europe and USSR drd not perform ver'y W 'ell and fell well short of
the growth exhibited by free market economies of USA and Europe: This was largely due to the .
inefficiency of the state- owned enterprises, ‘corruption and red-tapism, - and absence . of
incentives to become productive. At the same time, Karl Marx’s fears did not materialize and .
the free markets did not evidence a class clash as predicted by Marx. This has led to many
economists criticizing planned economies and suggesting-a-move towards prrvate enterprise.

Eastern European countries and’ Russia have also made a shift from planned toward free marl'et
economies.

6.3 ered economy (A more realistic model) L B
MIXED ECONOMY is a more realistic model where market forces and government .e thh
private sector and public sector are mvolved rn resource allocatron'de' isi

Characteristics . . p T RR
* Ownership. There is presence of public sectorand l-‘lri'\rate':‘sector Some’of the assetsare. |
owned by the government and others are prrvately owned P R

» Objectives. Private sector is motrvated by SelUlf_mterest

o .rrms will try,;to maxm’llZe
profrts Consumers will try to maximize welfare Factor owners wrll maxrmlze rent

|
B
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interest and profit. Public sector, on th

s
S

e other hand, is not working for profit and aim "
for providing a social benefit, - » is not workmg‘ for profit and aims "‘g,;
Free enterprise, © " : Coe T ’ i

. b Free enterprise exists only in the private sector. v
mpetiti ; g

. A competition. Private sector can be quite competmve It depends on the {f
markel structure that prevails in the’ : v
e 10h 10 b the various mdustne_ Governments set. up bodues i
make sure that mdustnes do notbecome 100 uncompetmve. | o

« Aliocative mechznism. = : Y ¥

¢ Price me : ' B St e ' b

chanism operates in the pnvate sector. lts effrcrencyjd_ep‘ends on how i

competitive the market Structu[r:s are. B 1

o The government ‘ i

'€ E0vErNmEnt run activities, like hea|th and educatlon, tend to be provrded i

free 2t the po

: et ine point of use, although there are. some charges even in’ these areas. bf,

.0 v priced goods provided by the government can result | in shortages for Wthh ,f:

government will have to find a rationing mechanrsm such as settmg quotas f,;

¢ Role of governrnent. Government has following roles to play. %

G Resulzte i

© Regulzte 2conomic activities of the private sector.. It needs to ensure that i
compstition exists and that tproperty lawsare upheld. i

(o e \ i

© Government provides both public goods. and." merit - goods (educatron and Fu
nezlthcare). Government can provide- them dlrectly or contract them Out ] ;

private firms (paid by the government),
Government

QO

l:"{ own strategic mdustrles or- sectors that have natural
monopolies (e.g. postal service and electricity mdustnes).,

Real world examples

Flmost zll economies today are mr/ed economies. However the extent of the mterference of
t.‘., government will vary. Some countries, such as USA; !

nzve very" little government
interference and tend to be close to a free market, Some e

:o'".f::mies, such as Zimbabwe, have a
very lar'm public sector and tend to be closer 1o plannec ceonomy, Gther economies have a

mizture of both private and public sectors. High governmers wiarfer: 'nce though comes at a
st —nigher taz burden on the taxpayers. '

Advantages of private sector :
» Efficiency. Profit motive and competition will force firms to become more competitive
leading to lower costs and hetter quality.
¢ Consumer sovereignty. Private sector firms will try to produce goods that consumers
are willing to buy, s TR :
* Choice. Corpetition in prwate sector lncreases chorce for consumers
* Innovation, Competition and profit motive forces firms to infovate. ‘, :
Other henefits, Other benefits stem from the pomts that are hsted above and can
include the following: : ' ‘ g
o Higher production
o Lower unemployment
o Lower poverty levels
o  More development

Srahfahiss

LT

33

=%

xtao

-

Scanned by CamScanner



"’
RO

V————
——————
e

- — e ——————————

o Lower prices R TRETLt Vil
© Improved living standards

chndvantnges of private sector . SR AR AN
Despite i

AR

ts benefits, private sector suffers lrom following drawbaCkS' : tlve externalrtres
Underprovlslon of public and merit goods, and 80°d5 W'th pOS' e e

*  Unequal distribution of | e ! R A SRR
ncome. .. e H { A e

* Qverproduction of demerit goods and goods WIth negatrve externalrtrers,‘, 4

*  Private sector monopolies. N

| ]

Resource allocatron in l‘avourolthe nch R P R S S

\

Advantages of public sector

Government will need to intervene in the market to corrert market failure. lt therefore
‘provides following benefits: ' ;
_—

Government provides public goods and merit. goods i R '
Control over negative externalities and demerit:good '0V°rnment also- regulatns the. .
amount of negative externalities by imposing taxes; or through takmg Iegal actions.:
Government sector reduces wasteful expenditure. ... | e, R
Profits of the public enterprises are avarlable to all crtrzens in the economy and hence . b
create more even drstrrbutron of i mcome and wealth. AHE Nt
Government also uses progressive’ taxatlon and 3 system of welfare payments to the
poor that reduces the dtsparrty between the rrch and the poor

Government controls prices of essential goods. e
Government can control working conditions and allow for a national minimum wage.

Government can focus on long-run growth with mvestment in capitzl goods, training
and education, and ini’ “liucture,

Government tries to promote competrtron m the economy by breakmw up monopolles

Disadvantages of pubtic sector :
However, public secter entities sufferfrom following drawbacks:

e Inefficiency caused by the fact that there rs no profrtfmotrve and decrsron makrng is
slow. ‘

e Public sectoris Iessrnnovatlve and may eve :pro ide po
e Red-tapism; bureaucracyand slow decrsron makrng,.u E - L
e There is producer sovereignty. State- owned enterprrses and the central plannrng may R
_ignore consumer. tastes and’ wants.. L YI } S :
",".“. ""'Goods provrded by public sector at low cost or for free may face sho: tages in the market o
o |ead|ng to development of black economy..
. PubllC sector may end up havmg poor qualrty

S

chclusmn : B}
"Mixed economy is thernfore a mixture of free market and planned economy In thrs system,
there are: both pnvate sector and publlc sector lts advantages and drawbacks are also a.
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combination of the two systems. Mixed economy is the most realistrc,.'system and ic, the most L
w,dew used system. ~ e

per

6.4 Whlch syslem is best7 S ISP ' ';
poth free' markets and planned economies, have thelr advantages and dlsadvantages As ’
extremes, neither of the systems work, but from the expenence of the world economv over the ’*’)
|ast few decades it appears that the free market has won the argum o | ¥

it would be misleading, thOUSh to say that the free market is- the wmner wnthout any

provisions. Free markets with very limited governments would fail in other ways: poor health
and education services, low state benefits and penstons and an unfarr dnstrrbutron of income.

1

e .
\\‘:&ﬂ-‘

B

L

L v

Hence ali economies in the world are now mzxed But |t is. not clear how much should the "
government intervene in the free market. This is a subjectrve deusnon Some economres such as &

-
IR

US have low government lnvolvement and” some Ilke Zlmbabwe have hrgh ‘government
involvement. The-general consensus however is that economy will work better if there is little
government intervention. Government has a significant role but. too much government and too

much mterference m free market wrl\ tead to dlsrncentlves and \oss m effncrency and
productivity. ' : - 4

R

N

X
.

i
3
25
¥

T T

v
&
<
i

T

The extent to which the government should intervene is 3 n";—%iat'awi‘@'ésﬁ'oh and a difficult
one at that. To sum up, governments need to get the balanc

e right. All civilized societies ought
10 have a minimum safety net of essential servxces but if it is to0 2ig and costly, the higher
taxes will make the economy less efficient and less attractive tu

T e e >
ErinvVesiors,

As for overcoming the'problem of scarc_ity’, the'-more'ef'ficien*‘ tha g "\"'rlaom‘y"', the lower wiil be
the problem of scarcity. Hence, free markets with some governrmeny stervention tend to lead
to higher efficiency and better allocation of resources than pzaoneo economy However, no

economic system is in a position to eliminate. the problem ct ;carcxty

6.5 Transm n economxes

TRANSITION ECON MIES are the formerly planned ec0nom1e ] s [ ~E$jkédl&1n't’ries'~“i'n-' Eastern _ .‘\g,w o
Europe that are trym to shttt to the free market economy R ' U
. o e

-
T

e pianned economres? SN
(Characteristics and benefis and drawbacks of planned economres were drscussed earller)
° Central planning W S breaklng down: People s, standard of- hvmg was’ declining” and

What went wrong with

]

people had to wait'in\on gueues even to get essential goods ahd services. One of the ;3
reasons for'the mess was that the state owned enterprises began to ignore instructions r%
from the government. {hy 5

R¥s caused chaos as the output levels were not as planned and
_.this had knock on effect fo other enterprises that relled on this output

ST

P S
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existent: Mcre
importantly, there was |Ittle In stment from within these economres The _jmtal\smck

failing. The old factories with their out- f-date. and. dlrtv machlnerv were c%
unacceptable level of air and water pollutroﬂ

SOEs were lnefﬁcrent that led to poor quallty and- hrgher costs of productron

fall of the Berlin Wall in 1989 that started the colla se of the communrst regrmes throu;:hout
the world.. P

Reforms that were needed to move towards free market
(i) Price hberalrzatron o S
Government had to remove pnce controls and allow |

by the demand
and supply forces. This resulted in mflatron as prices lumped in the SR. However, this could

resultin lower queues as goods are rationed through prige mechanism. There can be gains from

price liberalization if the government allows domestr prrces to reﬂect world prlces more
closely. L . i . L

¢ Since price hberahzatron isa dlffrcult decrsio'n sowne governr“ents decrde to delay prrce
liberalization. Russian government delayed the decision because of the fear of effect of
price rise on real wages of workers. Sensrtrve pnCec

{suck as on food, housing and
shelter) were notfullylrberalrzed PR SRR T

(ii) Removal of subsrdres
Government has to remove SUbSIdIES'

! -owned:. enterprises’ -(SOEs) The
inefficient state-owned sector was able to survrve because of the subsidies. and subsrdles keot

prices low hence keeprng out competmon Removal of subsidies will. lead to mcrease in orlces

(iii) anatrzatlon :

' ~ es. ‘Prlvatlzatlon of
small scale SOEs (such as shops, restaurants and” bars) created few problems They were :

handed over to their former managers or. owners, This creat d 3 vrsrble slgn of transitionto " {
market economy and was a source of employment generatro : . : - =

Privatization of large scale SOEs was a problem as. the gover nent'neéded to ensure that firms.
responded to market signals and tried to reduce losses and lmprove profltabrhty, there should
be a process of corporate control ensuring ‘that shareholders play an act|ve role in apporntment
and removal of managers to ensure that the managers are working to maximize benefits for the
shareholders; and the government had to select a transparent method of pfivatizing that drdn t
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corrUptlon “increas
’ . ere handed ed go"e"‘ment revenue fr A :
erprisesW over to efﬂment emrepreneur I'Om sales 3"d'ensured that the

stablishing markets for Iabour etc. '

markets (com ; ’ : ais .

I Ortse:;nomles ne(ed n:‘:]?‘?'t'es and. faCtor marketS) were absent I ‘

e in:
rksrtttly Government will neezlsttaorlbmh commodities- and factors of prg;::tfgni?zo:"cts
effici allow demand and supply to perate
initial problems which eventually get settled as markets matu\r K freely This Wil crests
Labour T market was no e . :

' n-existent as workers were tald by the government about their

activities. Workers will now need t
0 fr
of the market e "d JObS accordrng to therr skllls and become a part

» (V) jmprove management techniques v
There was a need to improve management techmques as exrstlng managers lacked these skills.

Governmentlcoult:] ‘either restructure- SOEs and orovrde tramJ, sell “5OEs to_foreign
multinationa’s: s.50 that they. brmg modern managEment technrques that :prove efficiency.

(vi) Trade hberahzatlon : ;. g SR
Government needed to reform trade policies by removrng state monooolv on trade; removing

Q_r_ngy_g_ng trade barriers (tariffs, quotas etc.); and. allowing ‘currency to be convertible. This
would create competition for local firms leading to effrcrency, lower prices and more choice for

consumels. . :
Certain governments however decrded to protect the Iocal rndustnes from the pressure

of foreign competrtron This is because the SOEs are inefficient and may not be able to
ns initially; large increase in imports will lead to large deficits
r, this will mean that the: reform process will slow down
ted raw materrals will. be at'a drsadvantage This may

compete with foreign
on the current account. Howeve
and the firms that are ysing impor

also hurtexport from these firms. . :
« Central European countries’ have been successful rn their

They were able to find new export markets in Europe an
overcome drawbacks of trade hberahzatron :

r efforts of:trade Irberalrzatron
d were ‘able to successfully

i) Curren'cy convertibility 5, o I )
. Government needed to make thelr currencres convertlble Government can ert_her‘use floating
~ % or fixed exchange rate systems 10 make the currency convertrble :

. lviii)  Reform of financial sector
3 Government needed to reform following areaS
e Establishing an autonomous central: bank whrc
that it can control money supply and interest.rates in

can act as a lender of Iast-resort to the commercral panks. :
A ‘ to collect savings ‘and channel these savrngs to frrms

¢ Creating banking institutions. cricien
(especially SOEs) for restructuring them 3T_‘d |mprovrng s

h is free ot v vernment lnterventlon SO
dependent|y of government and it
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* Setting up a framework to supervise and regulate actlwtles Of the f'"a al SeCtOF
*  Creating money markets in whlch government

These reforms are very difficult and are hkelv to: take many years to .comF,JlEte -_Experrence of

financial s xed. Some examples are grven below .
a°c In emr?os\:zgnw;t refused to bail-out banks which hai made' poor Iendmg
decisions; sold them to foreign investors; and adopted tough ban fup'f,cy aws to ensure
banks could recover bad loans. As a result of theseyollC'ES almﬂﬁﬂoﬁh&haols by

1996 were foreign-owned with very llttle bad debts in'the flnanclal sector.’: . .
e Czech Republic on the other- hand “saw - that almost 50% of banks |oans Were

unrecoverable. Policies adopted by the government led to the failure of the financial . -

sector. Banks remained in state -ownership. These banks were e“COUWEEd by the
government to finance many of the pnvatuzatron of. SOEs creatrng d conflrct of rnterest
Instead of calling in bad loans,’ Czech banks gave former SOES more loans and makmg

the firms highly indebted. The' legal framework tended to favour flrnjs in debt Tather - g
than glvmg power to’ banks to-recover debt These polrcnes led to “high levéls of bad "

debts and the Czech i - ament was forced to barl out banks forlfear of: collapse of the
financial sector. It eventually began the process of prrvatrzatlon

(ix) Establishing a stock market : '
Stock market would enable newly formed enterprlses to ralse frnance for growth

(x) Changing culture

Government will need to change the culture in the economy to make it efficient and effective,
Economy will need to accept failure so that only efficient and successful firms will survive and
inefficient firms (e.g. SOEs) should be allowed to go down and to bn raplaeed by effrcrent ﬁrms

{xi) Change in laws Jee T S ;1.‘
°

Government needs taxatron reforms as formerly aIl pro fits of SOEs went to lhe
government but now government will need to rarse revenue to finance its spendmc
Initially, the government will face the problem of a. small tax base whrch over lee is
expected to expand as firms become more efficient and’ employ more people

assets belonged to the government but with a shift to the market asset ownershlp will

shift to private individuals and firms. Government will need to protect thelr property ifit

wants its reforms to become successful.

Outcome of reforms

All of the transition economies experlenced pain dunng the lransrtlon
Output fell dramatically, a

inflation rose (hypennflatron in some of the countrles), g : e R e
BoP deteriorated, e e e _

devaluation of currency took place, -

Y.

e T P —
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Government will need to change other laws especnally property laws Formerly, allthe




sons why the transltlon process was so diff.cuh

Face of reforms
Countries have used drfferent aP

« Others argue for (and some countnes

SOEs were under threat from forElgn com‘ § ' s,
h o
shut down, and s p t rs and some of them were forced to

unemployment levels rose.
__‘_/—-—"-—--—-—"’——
/.-'

fe of the kei' problems was that the old command economies hadwp_'lim
goods marke 5. Everythmg had been Wd by the'-’state""'Thecreatlon of these

anﬁcult T
Governments had never had to use flscal pol:cy and monetarv.
developed economnes understand. They had to set: taxes in order to pay for defence,
legal system and a- welfare state_for: those who Were to ' biy. suffer during the
transition process but the. newly formed onvate enterprrses werg_sjiqﬁgimg in their
early days, and so often could not afford ‘the'taxes, 'so’ they: just didn’t pay.. If the
government raised taxes to allow for" this, “even more busmesses feft the formal
economy and joined the informal economy. ' :

2 ‘i'.'.;'"" 6= Economic Systems

Tax base was small and the government faced dlfﬁcultles in flnancmg its expendrture .

with use of money markets. In western economles ‘the gwammds and
Wet In the transition :economies, the stock
markets were under developed, so there was only one. other way td raise money - print
new notes. Of-course, this caused the money supply to grow enormously, which is the
main reason for the ayger rinflation experlenced by some_ of the countrles ’
Workers were used 00w orking in.a state owned emerprrse when ali productlon
‘,e sudden swrtch to prlvate ente r|se Was ‘2 shock

The new entreprent  cautious’in Lhelr deC|sron _ ot want to make lots
of goods that might ; urc L1ased by consumers They were ni t’keen on mvestmg in
new machinery. So not only was tne quahty and quantlty of their output ‘low, but this
had a knock on effect. Businesses that supphed machlnery ar the materlals requrred for
the production of the good wouid suffer too. It led to |ow output levels that led to low
employment which led to less consumer spendmg power and so an even lower output.
Transition economies also shifted to protectrng grogerty r\ght The laws were often
unclear or contradictory. In some countries, businessmen ook advantage of the unclear
property laws. by signing jand and factories OVer to themselves during
the privatization process. The laws were also muddled for foretgn investors. It was

essential to attract forergn money |f the economles were to grow agarn

decisions came from: ==

proaches to achleve,. he transmon

Some economlsts recommen
adopting strict monetary and frscal pohcres 10, educe rnflation*

of supply and demand to determme pnces and exchang AR
dopted)a: radual_approach to transition

be'soften‘ed.-:They argue that the consumers

nc allowrng the forces

because the pams from transxtlon nee __to
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support to adopt the policles. - - .-

Concluding comment

The ov e desended on a4t of -such as th G g et
erall success of the reforms depended -?."xaé?t D._f,faC,t_D.ﬁ uch g5 the eXtent of refgpy
pace of introducing reforms, abili tract aid to support ecanomic.reform process; apjji,,
2Hract FD) from and Japan; and the extérit to which’there is BOIitical stabr
commitment to persist with reforms, (<) "¢ 51 .

Some of the countries have proved that transition ca

at the beginning. Probably the two most important fUnd‘ame‘ht'élé'that must be in place are:
* Arobust legal system along with clear rules governing the issue of property rights. .
* Areformed and free capital market to attract foreign investment. . /' i

n bezasuccess if ‘the
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7 The price system

A MARKET refers to a process through whlch products that are falrly slmilar are bought and
sold. The essence of market Is  trade ~ there Is a buyer (prepared'to purchdse somethmg such as
consumers) and there is a seller (prepared to sell someth1ng 5uch as flrms

« Markets usually have a physical existénce siich a as stalls and shops where 800d5 are sold. (\

But a market may . not-have clearly- defined! physical presence. Wrth the advent of

technology and improvement in commumcation systems, we fmd that online trading
and trading on telephone has increased a Iot

Following are some of the examples of markets that we wnll study m A Le\/el
+ Housing market — where buying-and sellmg of houses take place"
« Laoour market — where individuals’ labour power |s bought and sold
o Stock market — where shares are bought and sold;
« Commodity market — where.commadities (wheat rice etc ) are bought and sold;
e Foreign eychange market —where currencues are bought and sold el

Within each market there can be SUB MARKETS I e smaller, sectrons of the overall mark et, e.g.
computer industry can be broken down irto" various: type of computers dependmg on their
memory, speed, features and whether they are desktops or laptops. We usually try to find
prices for sub-markets by looking at thelr demand and supply cond t,ons ; -

Free market :
A MARKET SYSTEM refers to a resource allocatu n me
hased on price mechanism. PRICE MECHANISM is the m

re allocated
in a market

economy. Prices in a market are determined by pure e 23 RIDTY tnout any
government or external intervention. _ 0 x
: o : . L - Pt o .
7.1 Demand - buy S]df of the market SR TN S (Y o
DEMAND refers to the guan

ties of a produ that purchasars aré. wdlmg and able to buy ot‘\
various prices per period of time ceteris panbt‘z(key points are explamed in Appendlx A).
« EFFECTIVE.DEMAND - demand is said-to be effective when there is both wdhngness anc
ability to buy a product. Economists onIy take’ mto account effectlve demand
« The LAW OF .DEMAND states that “price: an uantrtv dpmandnd_ are m\/erse\\,
p,(mw, i.e. a Iower quantlt will-be: de_manded‘at"a hlgher price

assuming all other factors. remam constant This'is:be jith an-increase in- pnce ot
good, value for money (as measured in terms of satlsfactlon denved ‘per.dollar spem on

“Xhe product) falls Fall in value for money ieads toa decrease in demand for the product
« DEMAND CURVE is the dragrammatlc representatlon ‘of demand based on its definition
and shows the relationship ‘between the guantity demanded and the pnce of a product.
The demand curve for goods. is. usually . downward slopmg from left to right, i.e.
consumers are willing to buy more with'a fall in pnces ' e o
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The following DEMAND SCHEDULE (stanst:cal data about quant'tv derianded of p’°d“d at

different price levels) is for a hypothetical product. It shows that with a decrease in. price of the -
Product, quantity demanded of the product rises. The correspond'"g markﬂt demand C“r‘"‘ L

(plotof a market demand scheu' en a graph) is shown |n the ngfF—‘ belov RS

,,.‘ 'r =0

Price of Quantlty demanded

~G00d A ($) (Qs) per week by the - consumers in 2 market and is denved by
100 , 200 honzontcllv summ;ng themdlwdual demand curves
80 ' 240 i sk el i :7'“‘
60 - 280 }Marlfet aemand Zmdzmdual demand o
o 320 | 7 s
20 360 . i 3R invercs.
The demand curve clearly shows that there Is an inverse

quantity demanded and vice versa. (Some of the key points of thn demand curve are dlscussed,j '

in Appendix B. )The equatlon of a Imear demand :
curveis; - . o T in.re T A T R R e T e A
‘~'."Contractxon
_a—-b SEA e e : ko B
Q“ (Prtce) B ey == ‘\xi\demand ,4‘ &
Movement along the demand Curve - . | E > E)ttens,on :
Movement along the demand curve take’s pla’c'e p' K inﬁ"?n]a“d:ﬂ'-’.'
due to two reasons: 3 e i ey \\‘i‘ i
P3 O e | 3 N S
* A change in price of the product ltself ‘ R = N
(not of complements and substitutes) 1 | PR
© An increase in price leading to a ° Q= & B
fall in quantity demanded is caliag Quandty demanded

CONTRACTION IN DEMAND.

o Afallin price leading to an mcrease in quantlty demana ed is ca”ed EXTENSION

IN-DEMAND. R A S TE ko , R
® Ashiftin the supply curve also leads toa movement along the demand curve

*gomespecsalcases , o LAY L ey R
1. GIFFEN.-GOOD is a good for Wthh demand mcreases as- the pnce mcreases and \nce-’ S
versa. It has'an upward sloping demand curve whnch is contrary to the law of demanr_ A .
Giffen good - is typically  an”inferior:: product that does not have easdy ava|lab|ei{
substitutes, The ‘most commonly ‘cited: ‘example of a Giffen good :s,th‘at of the Irish . " .
potato. During the Irish famine of 19" century, as ‘the price. of potatoes rosnf poo,—,""_ R

consumers had little money left for more nutritious but expenswe food tems hke meat. :

The lack of money led them to buy more potatoes and less meat.

#' VEBLEN GOODS are types of matenal commodltjes for whlch demand is prop'ortronal to’ T

their hlgh price. These mclude uxury goods such -as’ expenswe Jewellery, fashnan-f';f'- :
use of their high prices. " ¢

designer handbags and luxury cars which are in demand beca

7 —The price system; -

e MARKEI’ DEMAND-IS the total amount demanded\_,

The high prices makes them desirable as status symbols. A decreaso in theur onces'

.- ————

[UONESA S SRS, |
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would reduce with_qua_ntitj/"denwandEd ‘ther ¥ 7
curve. r R //74

72 Supply- sell side of the market ELTE 7
supPLY refers to the quantities of a product that s lelers are wrllmg and able to sell at vanous %
(ices per period of time, ¢ ceteris paribus s (key points are explalned in AppendIY C). ,,f
The LAW OF SUPPLY states that price and quantlty supphed are. dlrectly propomonal to ﬂf

each other, i.e. a higher quantlty will: be su ] 'Iued at:hi her. | prices; all _other. things ;

unchanged. This is because higher prices are’ more Tlikély.to i _p;[g?}ie_ﬂﬁﬂé of the firms ‘é
./

Wtherefore likely to produce and sell more. Another reason for upward v
sloping supply curve is that the furms face drmmlshmg returns in the short run, i-e. the 55
cost per_unit of- firm.increases with an increase in, out ut-~|Vlarket prices will have torise . E{
to convince producers to produce at hugher pnce Jevels ' !:
b L upp]y and ShOWS ;’Z

« SUPPLY CURVE is the dragrammatr .
the relationship between the quantrty supphe‘

id th pr duct*The supplv
curve of goods is “usually upward sloplng, . firm: '

IR
L INAR AN

I
,

=

output thh an increase in pnces R i
Thé following SUPPLY SCHEDULE is for a hypothetlcal product lt shows that with an mcrease in G _
" priceof  Quantity supplied price of the product quantlty supplled of . the. product 4
Good A (%) (Qs) per week rises.
=100 360 « MARKET SUPPLY is an aggregatlon of supply ,42%
80 320 curves oflndlwdual ﬂrms such that PR f,,;f
SR , _ i3
60 280 !rgg
40 240 M arket supply =: y mdwrdual supply #i
20 200 : i
The supply curve clearly shows that there is a direct relationship betwaen ’pr cea d quantlty L@’ :
supplied. An increase in price leads toan increase in quaniit sice.versa. (Some of rx’? §
the key pomts of supply curve. are- drscussed in Appenda< D0 ’iu-arimvear supply f

curve is: SRR
"";'_'Q;—-_ a + b(PrLce) #
Movement along the supply curve A (P;)ice ST
Movement along the supply curve takes place. | s T Ve Se

due to two reasons: B
}’ 5

« A change in price of the product itself S R R -y
: T Tt h ok -~

o An increase in price leading to @ ! - Exﬂnnsioﬁ' .
rise in quantity St supphed is called ) in G‘L!pply }
"EXTENSION IN N SUPPLY.
" o A fall in price leading to @ fall in
quantity supplied  is called O T Qr
CONTRACTION IN SUPPLY. .. |

: Qudnri({' s;clpl)lidd '

T
T ATRARN

oo
Y

FFE

AR TR

-

RO

P
RNREARRT
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Supply sell side oflhe mm‘ket RSN
to the quantities of a prod . DO
PPLY refers product that sy _Q_Q_hﬂ_ i
e
ces per pi:&‘lj ngt:Eg;”e{;erﬁwm (key points are explam‘Zlc:]'nrr:gA?;iz:Is éc)) sell at vanous
L i .
the stales that,price and quanmy SUPplned are. d|rectly propomonal to

each other, i.e. a higher quantlty will be'
e supphed at. higher. pnces, all other things
%‘;‘:ﬁ;&”ii hl‘ghEF prices are more. ‘likely to increase profits of the flrnﬁs
ikely to produce and sell more. Another reason for upward

sloping supply curve is that the firms face dnmumshingLreturns in the short run, i.e. the

cost per_unit af. flrmlncreases with an increase in output ‘Market prices will have to rise .

to convince producers to produce at hlgher pnce Ievels

« SUPPLY CURVE is the dlagrammat\c repres' )
the relationship between the quanttty sU
curve of goods is usually upward sloplrtg,:
output Wlth an increase in pr ices.

y and shows

18 followlng SUPPLY SCHEDULE is for a hypothencal product lt shows ‘that with an"mcrease in
Price of Quantity supplied price of the product quantlty supplled of the product

i00d A () (Qs) per week rises.
100 360 * MARKET SUPPLY is an aggregatlon of supply
80 320 Cu (MJL ndivil luLn'w- "“gu(h!’pat .
60 280 e 5
40 240 , ; '.r.’".‘rfl'i‘_;i,(;i, 3 Iz \> i .‘ual Supp[y
20 200 s e
.en price and quantity

‘he supply curve clearly shows that there is a
upplied. &n increase in price leads to an increase in quantiny i vice versa. " (Some of

he key pomts of supply curve. are: dlscussed in AppE'ﬂle Q ] H,e t—quatlon of a hnear supply

wurve is:

LUpE

Q = a + b(PrLce) £

Price

Movement along the supply curve . s)
Movement along the supply curve takes place. .
due to two reasons: el FTIATRE LAY
e Achangein pf

o An increaseé in pr|c

ice of the product itself

€ leadmg to 2. '. S.l k"-’-'—:_r,- DRty ..‘-‘-y" L‘xl.nnsmp”"

rise in quantity s! supplied s called 5 R TE in q‘upply
EXTENSION IN SUPPLY. ) < tractios
" o A fall in price leading to a fallin Ltin supply

called

quantity supplied . is .
CONTRACI'ION IN SUF_’P_I_.Y.- e

- e e = T
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| ~=The price sye
..... - l T I Se——. _,-lk_,__ ‘wtem
I , l ' l’

i) Vr;mvhtalon lhe démand CUrve ;
o ASMLD mmmmwﬂq also lenrls td h ne t!

e —————————

7.3 Market equilibrium |
EQUILIBRIUM refers to a situation of balance where at least under present CerUm"tanCes there

is no tendency for change to occur.

e In a. free market system wnthout government 'h
Priceof — Quper Qs per Intervention, equllibrium price-is establnshed where gquantity K
GoodA(S) week week demanded Is_equal to quantity supplied. This can be shown ‘
100 00 360 iy the help of a table and graph. - 5
80 200 320, market equlllbnum takes - place where ‘quantity
I 60 280 280 “I demanded is' -equal to quantlty supplled (Iook at the table) or I
' 40 320 . 240 -where the demand curve and the supply curve mtersect (look
20 360 200_ 'at the flgure) Usmg the above table, equrhbnum price is $60
and equilibrium guantity is 280 units. EQUILIBRIUM PRICE is the prlce where demand i
and supply are equal, where the market clears EQUILIBRIUM QUANTITY is. the amount ' I;
that is traded at the: equullbnum pnce ' : i 1
Total consumer expenditure is'glven"as: RO / :;
Total consumer expendtture = Total fn mrevenue = P X Qe {
Assuming no government intervention, the total consumer ex pen lrrure is equal to total firm
revenue. In the above case, total expendlture or Lo i @3l consumer expenditure Is
firm revenue is equal to $16,800 (60x280); | et f1g::|;i::‘eune(::hom b '
* It must be noted ti~ ->*he firm revenue is - v(s.)‘f-,." é N e
not the same as profits. Profit is . - |
calculated after deducting costs from j... |- i
revenues. Therefore, we need to- know,'.? ‘ |
the cost levels flrst to Calculate proflt' ]
e The. consumer expendlture sors N '
revenue'is shown as the. shaded‘reglon |n'5; . s o SF i b
the graph. i S R Y I ,
i : Quantity
: Reason for reachmg an equuhbnum : " : T e T R
. 'Equ1l|br|um prlce is sometimes also called. MARKET CLEARING PRICE Ie prlce where all i
.,prOducts supplied to the market are bought or cleared from the market TN R
e Market prices may be different from equnllbnum price that lead to enther shortages or
“u surpluses.” _ :
~'Free market forces’ will n move the market prlce toward eqUIllbrlum R
'zgig:(-j'zﬂ:"\’l tilikes place If there Is an Imbalance where change wIlI appen i.e. Whe”-’- ‘
nc.supply are not EQUal Two sltuatlons ofdlsequlllbrlum ale explalned below -
) et RN R T
- R o (B RIS
4 gl I
|
; o | £

Scanned by CamScanner



P

[

I

.';;

%

‘4

- ’//
0 wMt\xnw of excess supnly " RS L /
‘ reater than g e A 7

\f arket e uilnbrlu rlce lhere Is f s 7
sal Ibrlum o exces %

qupply: At @ higher price (such as $80), firms will . d to be dlseduil — ' b
pe willing to SUPPly A higher amount (320 units) [ |« . %
ghan the demand (240 units) at that price, This |~ | ° RN 2
ells 0 excess _supoly - andfollowing | [N T2 o et ’
adjustments: . AR R TR < Z
: ) (N %

o As supply is greater than demand flrms- N %
will build up stocks. Reaction of SUppllers o 'gisequl(liibrikfmolextcss ?

: = «demand .

will be to cut prices and reduce quantity .- ;_4 b A \e'" 7
supplied in the market. hence movung_:'_”‘;“;‘ s e Y el ;
toward the equnllbnum . |l ';‘:l',o ‘;mu' BT 320" ; JJ
e As price is cut, consumaérs wnl reaclgy e T e e e e Efﬁ/
mcreasmg demand for the product therefore moving luward the equnhbrlum , 7

» ’ 'A.

(i) Disequilibrium of excess demand ', SER N e '

If market price is less than equilibrium price, 1I|er(. s sald 10 be d;sethbrlum ‘of excess | 7
demand. At a lower price (such as $40), consumers will demand a higher amount (320 units) ’2

than what the firms are prepared to supply (240_upjts) at that price. This results in excess
demand or shortages and following adjustments:

;e As demand is greater than supply, there will be shortages in the market.
*° Reaction of suppliers will be to increase prices (they see_a_profit- opportunity) and
increase guantity supplied in the market hence mu\/lnp toward the equnhbrlum.

_ei As price is raised, consurriers will react l;y(n ducing dem: num(n the product {some -
- consumers leave the market) therefore moving toward the 1,A(|Hl||i)||U|1\

AT e e
SRR

B

LN
e

i

=

Nothing will be able to prevent cormpanies from acdjusting in this way and, wiovided there is no
change in demand and supply conditions, an equilibnium wi cvent ity os ccanhed. It must be
noted that the adjustment is not an instanfancous pooceas, o 16 taees piace through
expert decision making or simple trial and error, :

However, this creates an inherent limitation of the proce:: :
¢ There will beltlme lagspefore the adjustment is completed,

v Markets can thus remain in_disequilibrum for some period of t t,mp The market will
eventuall&leaaat the point of equilibrium,
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= 272 ke that. Afallin demeand isagsto e |
=;zrt 77 in the demand curve lgaaing 10 g i
21w 2oz 207 2 fall in guantity traded.

izl equilibrium price (Py), there
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s

Changes I equilibrium ,
Equikirtum can change becaties of & change in démand or suppf{mndmcr, .aadmg toa shrft in
elther one o both the curves, & = af the examples sre described below. :

() Annctease in demand
’a's'"e t25tss; increass in

Demand can Increase due to rise in income for normal goods or 2

poods) tise n price of nulmtltules, fall In pricé of compibmon AL
advertisements; positive news about the prodUL Nopw g
1L

and the company and like that, An lnrreasn 1[5 3545 1 it
damand leauds Lo a rightward shift in the dermand |7
e leading Lo a tlse In both price and qu_ant:ty.

e oiarease i demand from D1 to Dy lead* to

CSaBOWTR changes,
AL the initial equilibrium pnce (P,) he
wil now be disequilibrium of . exce
Semand as consumers will demand more
fo0ds (Qa) at the same price. This leads to
2 ghortage equal to Q= Qa. ,
Suopliers react by increasing pr;ces and-incr
\\:ndvt the new equnllbrlum Es. A5 prxce

re
-
>

-
N

~ . .

-

=
%

B ‘Js rxat clears where the new’ dnm and (Dz) 2n 5h TS
~ =han -=es“abl|shed ata h;ghor Drl’cfr’z':‘.ﬁiéfT:Z:‘E’Z;E‘fT" ST
% % zezzase indemand . iy 5 Bk
- == =~ zlldue to a fall in nC"
rable ta

~ o= - substitutes, unfavou
z poor news item

e

sy b disequilibrium of excess
umers will demand fewe

A % COnN!
ot (g at the same price. This jeads t ,
A ) . S S
ol squal to (14~ Qu 3 ‘ RNt SR HORTEY Qﬁnai‘l .
oving to\\e\dx the new-equilibrium Ez. /

o6 peall by (lecreasing l"‘\“‘ and

lhx‘n‘h\u 1\
Qe i quan

tm. demanoed .

4 i {710
Iplied,
Lottty su & ’
Ll i COnmnmers Bntel the matket leading toar :
IPLRCL ) |
At e new equitiveum. & -
unwdpn M G {(Da) and sueely o we mtsmecn New equnhbnum
[l HlEnD Wit L e demand (D) \\f. n ) g un
’ IM ' ‘ A s |
i sl il b lowet pe ;) \md alowe Qx‘ R :
H ERY
L _
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ncrease in SU. pply e (D Vi RO : , ’ﬁ:
(m\ /ln supply takes place due to lower CQ§I Qj nmductlnn due t | er price I
, lower energy and transportation cg o lower wages, lower ot i

of raw — st, introduction .of cost-saving New v
i

remova\ of indirect tax, provision of subsidy, and also due to entry of new firms in
h/kEt An ncrease In SuppIY shits supply curve to the rlght from SitoSi
At the initial equilibrium price (Pa), therex f———-*‘""’ﬁ
will now be. dlsequlllbrlum of excess ‘ ::;cc T
supply s’ suppliers will Supply finre
goods (Qa) at the same price, This leads to
eXcess supply equal to Qz - Q... BRI p y
o Suppliers react by decreasmu prlces and.
decreasing quantity supplied. ‘Therefore’
moving towards the new equilibrium Ea..
As prices fall, some consumers enter the
market leading- to a: rise- in quantity 0 @ o .
demanded. Therefore moving towards uantity i
tha new equilibrium Ea. s g
« Market clears where the new supply (Sz) and demand curve mtersect Rew equilibrium i

is hence established ata lower price (le and a hig

echn 0l0B

N

AT SR

S

(iv) Adecrease in supply ' R :
Decrease in supply takes place due o 23 ”sn in cost of productlon duetori

materials, a rise in Wages, imposition of indirect T
taxes, removal of subsidy, rise i‘n anergy rmu‘ (N b
&x transportation costs, and. 2 fa ; RO P
firms in the industry. A decrease | ' ‘/j,/
" the supply curve to the left from 51 i€ Sz L)
« At the initial equilibrium price e (Pa), there | o .
will now be disequiliprium of excess § 1
demand as consumers wiil demand more. - ‘ e
K : , ! Op
goods (Qsz) at the same price. Thls'leads 10 i O D S
a shortage equal to Qa — Qa. 0 s G @
. . Quantity

Ze Suppliers react by increasing prices and v
increasing quantity supplied. Therefore movmg towards the new. equilibrium Ea. As

prices rise, some consumers leave the market ieadmg to a fall m quantnty demanded
. . Therefore moving towards the new equilibrium. gl T ‘
"e Market clears where the new supply (S2) and demand” cﬂr\/e ihters’éct. New e‘quilibrium
" ishence esteblished at 2 higher ane (Pz} and a lower guant\ty (Qa). s

R
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: ; demand and supp =2 - AN e
(v) Changesin ?:;:; cummarizes the impact of ;han_ges in .bc?t_h de
Smutineousy.Pese efer o Appendix G for graphs showing th |
simu : T ‘ NS SR
tlhe demand and the supply _CUr‘,’e_S.;_ =

Mand ang'y;
mpact of ¢

,.g.e.s._in bnth

| Change "

() Achangein demand_.:.v SR
(a) .Increase indemand - .7
(b) Decrease indemiand -~ *-

(ii) A changeinsupply .-
{a) Increasein supply = -
(b) - Decrease in supply

(i) A change in'both L s b

(a) Increase infd'emand‘-&‘fdecreasetin"supply.~‘ ',-~T'|nCreasév?"‘ o

(b) Decrease in demand & increase in supply .. m »":I'EJUf‘lce,rtaih. EEE
_-—T-(c) “Increase in both demand and Supply- <7 U”cm\lncre? ;-
(d) Decrease in both demand and supply - - | Uncertain | Decresse |

| Decrease |

~Increase |
Increase Decrease |-

* Uncertain means that the change in pnceorquantltycannOtbeD ed::

decrease or remain constant depending on thé extent of changa in deman

This can be explained usihgz‘-t'ﬁéfﬁfﬂi-'ciwing‘dié’gi’ams. "

Increase in demand and a decreuse in supply -
* Prices should rise, -

e Effect on equilibrium quan
constant. L F

tity is not known it may i} increase, i) decrease or i

Price (€) .
PI

Prices should fa)
Effect on equilibri
remain Unchanged

e
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- 7 = The price system

in demand and an increase in supply

},;:rgcs:" !

. Quantity shouid rise.

unchanged.

. Effect on equilibrium price is not known. It may (i) increase, (n) decrease, or (i) remain

N P N NN T T

el - M

Fn:t (Sv}i o

Pyl

i H 2 e :; "Guanm‘.' S0 Quzntity
Decrecse in demand and g decr=os2 i suooly
s Quantity should ia _
s« Effecton equiiibrium pri not known! it may (i} i ase n) decrease >r (1i1) remain

unchanged.

T
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7.4 Shifts in clemancl curve e
CHANGE IN DEM MAND isa shift ln the_.de
price of the palticular product.. .

jghtward shift in demand curve: . :
ﬁi:htward shift in demand curve takes place because of an lncreas
favourable tastes,,faH in prnce of

due to more
complements; rise in pru:e of substltutes |ncrease

in income for normal goods etc.

A rightward shift, as shown in the figure, means
that demand curve shifts from D1 to D2
e At the same price (e.g. P), consumers are
willing to buy more of the same. good-_' i
(demand increased from Qu to Qa)- SH IS
o For the same-quantity {e.g- Q), consumers’
are now willingto pay a’ higher price (prrce' s _
increased  from Py. to Pa). Hence - f.‘;;_;__; o
compames can increase thelr pr:ces % |

Leftward shuft in demand curve
Leftward shift in demand curve takes ptace'
because of a _decrease in demand which can be
due to change in tastes of consumers; rise in price
of complements; fall in price of substltutes . _
decrease in mcome for normal goods- etc »

Quantity demanded

A leftward shift means that demand curve shifts'
from D1 to D2.

e At the same price (e.g. P), consumers are wnlhng to buy less of the same good (demand :

decreased from Qi to Q2). .

"« For the same quantity (e. g Q) consumers are now wnng to. pay : .‘I;jiéél»(DﬁCE-. -

decreased from P1 to Py).

Language used in demand curve = -

7=The prics system

Other.than the -

Change in price leads to a movemerit on the hne and we. say that ther is a change’ ln'Quanhm -

demanded. Change in other factors Ieads to a3 shn‘t |n the curve ‘and- we say" hat there :., a.' '. [

change in demand. .

D . o SR . A l
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s affectin AR AR 7
\ N g shlft in demand Curve ’
"“ | ability to pay for the prodict ‘ ; 7
l/f_g_ti%%"gmg“'é’fhot income after taxnnon ' jf

20 i : ARE ’

\\ le*; B‘S\L}f llS 2 X osntl:c\ncomefleft after Sumracﬂn -difect taxes and add tate beneﬁts ryé
L ome o people and'. . > ; mg sta ]
“firms” dnd”ca S@t 5 A

income on dema .""0 be“avoided.” The.impact of i
\ posable nd depends “PO" Whether the good is norm'a'l or mfenor 2 i :{
3 N %
3 RMAL 500DS exhibit a posm\re relano ; I . i
: -onship between direct taxes and d nShlp bEtwaen lncome and demand and a negatlve %
=¥ n increase in demand fornno em|and These include cars and designer clothes. 7
« A = i rma goods ta i
irect taxes and vice versa. . ke Place due to_rise in mcome or a faII in 7
!a

]
[
-
04

§ Dl
3 m"RIOR GC')‘SRS EXhClib'lt 2 negatwe relatlonshlp between income 3 mand .and a posmve i
g slztionship between direct taxes and demand, such as chieap unbranded clothing.

; « Anincrease in demand for lnfenor goods take place due to fall |n lncome or a rise in l’
v direct taxes a2nd-vice versa. i
N : : i

. ¥ ;'.,‘.

o ppartfr ncomas and dlrect taxes other factors that ca L e-purc asmg power are: )
o ‘af"e increase in unemployment leads toa fall m aggregateilncome : R ,
e sustsined rise in earnings from work leads to'an mcrease in income and £ ﬂ
« inflation leadstoz fzllin porchasmg power of money T el ot : a
(b) Availability of logns or_credit and the /nterest rate thut must be paxd on loans or credit
cord balances A P oL e .
5 increase in availsbility of loanz or credit anc’ 3 d "rpase in mterest rates lead to more borrowmg
A in the econamy which in turs = mand for the oroduct (rightward shift).
.‘5 « Interest rates affecic’ otion. Many people borrow to buy durable goods. A rise in

b ] interest rates would <

i migher instaiments of re plyments for the pr roduct resulting
in 2 fall in demand for tnhe pr ocuct and vice vursa SAAE

U

W
e

e
rELs i

(ii) Attitudes towards the proguct : Phelghl e T L
Purchase behaviour of individuals reflects thelr tastes ar‘d preferences for different types of

products. A favourable preference leads to arise in demand It [l *eult from"

o e 2 good reputation for reliability and service; : j
o strong brand identification aided by advertlsement and promo‘ on e

e fazshion appeai, status symbol, or’ ItS Iooks,
e favourable news item; , ‘ YAk L o |
¢ individual likes and dislikes; S
®  peer pressure and like that.

e
IIiIeEE

ey

=

SRS

SRS

N

T

L i
| |
” i L e cemee S e 7 __J 53 ! . ’:;%

’ e Y

3
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(iif) Price, availability and attractIVeness of related moducts i e
Economists classify related product mto two categories o (r) substrtutes ~and

{a) Substitutes

1 )
Ve
) . f
P

SUBSTITUTES are products that satrsfy essentially the same need or want (an alternatrve EOOd) R

e.g Coke and Pepsi, tea and coffee, and air travel and. rOad travel
*

Dell, Coke and Pepsi, Honda and Toyota) or broad (such as different product groups

dlfferent types of transport including rail, buses’ and cars; or dlﬁerent tvpes of soft

drinks such as cola drinks and fruit juices).

increase in_the demand of the product (rrphtward sh_L ehg

Toyota’s decision to increase price of its cars, will increase

attractive leading to a fall in. rtstdemand (leftward shift);

versa.

(b) Complements ‘ '
COMPLEMENTS are products that enhance the satrsfactaon de.nr J

product (a good consumed with another), e.g. fish and rice, TVs and DVD

Vi = The price system - -

A ir')l.:A?‘ :ase Of aﬂOther

compl'émerité. ',', Sty
Range of substitutability can be narrow (such as. drfferent competlng brands B Hp and

An increase in price of substitute makes the product more attractrve leadmg to an'_”-
rf Toyota decrded to
increase its prices, value for money for Toyota will fall and Honda (a substrtute) will o
become more attractive for. the customers. Demand for. Honda cars ;as:3 result of A

A decrease in price of substitutes, on- ‘the' other"’ id;will mak _uCt';___les_S“- N

An increase in quality, features, advertisement etc. of a. substrtute will make. substrtutefﬂ_ el e
more attractive \eadmg to afallin the demand of your product eftward shrft] and vice

0VD piavers, and PCs and

software. In some cases, man® “roduct cannot be used wrth ut a cemplement
razor blades; and DVDs and DVD.players,

* Anincrease in price of complement will decrease the demend for-c
your product less attractive. This will lead to a fall in-demand for vou' product (Ieftward

., 2.g. razor and

shift). A fall in price of complement: w:ll mcrease the demand for complement making - .
your product more attractive. Thrs will lead: to an’ rncrease in demand for your product» '

(rightward shift). -
+ An increase in attractrve and avarlabnlrtv of compteme

versa.

(iv) Other demand rnfluencrng factors peculrar to each product

Each product will have some factors that are pecuhar to that product e. g weather may
influence demand for ice cream.

e Expectations of future are .mportant in determrnrng demand for houses and shares If

house prices and share: prices are expected to rlse there er be a major actrvrty m:f

buying of houses and shares. . ..o ¢

s Expected unemployment and mterest rates also mfluence demand |f unemployment or' " R
interest rates are expected to increase, consumer and mdustrral spendmg may raH S

leading to a decrease in demand for certaln products

| Scanned by“'CfamScanner
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Thre” pasITE DE occurs when a good Is demanded for two o7 more uses, f ity

| . or two or more uses, e.g. land

3. O nded 10 build shops, to bulld houses or to build a factory. Another exam;)Iegi.f,':;‘ W{,'Z‘{

P P S

e . e .
e e used 0 manufacture’bio-fuel and also.manufacture bread. If demand for. bio-fuel

[haetsca ore wheat wil go im? productlon of 'bid‘fuel,-.',#‘\n"lncreaSE'lﬁ demand for wheat in bio-
;Lsel Iindus"V will raise ',ts prlce.andvya"ffggt‘" the ‘priéég;oy‘fﬁvau-'othé‘r’-;'J“[oa'dt:tslfrﬁz‘udé- from wheat
uch 35 bread: That will mean that supply. of bread- will fall-as.less wheat.is available for
manuracturing bfe?d- R S Bt B e R

S

“ried ‘tq‘éét'hé'r,"'e_.g'; gaming

e and games, and razors and razor blades. .
jemand for gaming consoles rise (may bedue to higher ipcornt
result in rise in demand for games. o S

. Aternately, it supply of PCs rise (may be due to fall in’ cos

2 JOINT DEMAND (complements) 0C¢Ur5‘.w_hérj: two EOOdsareconf

conso

jevels), it will also

production technology) leading to a fall in their-price-a d-*a"rise-‘jn-'ftheirr'dé'rrjgnd'; it will

‘esult in a rise in demand for software. This relationship can also be shown through XED.

3. DERIVED DEMAND occurs when demand for one good chg_rs“l:és":a'}és"@ﬁ-'o}’ demand. for -

another, e.g. labour is demanded because there is demand f’o'r"'th'e_fihal"p"r'c')dué:t.'-‘An_ofher
example is of input such as steel for car manufacturing. if demand for cars rise, demand for

steel will also rise which is the raw material for manufacturing cars.. .

4. COMPETITIVE DEMAND refers 1o demand for products that _E;‘I"e:"<C'|_O_S‘QA"S_lJbS't"i-iUte'S' for one
snother, beef and chicken meat. Al decrease in sup ‘E‘lz’.’fbf.B'ééf;';:i.é'édg't'ofé r'i'sélin price of beef
which makes chicken more atiracth M&f‘éﬁ&;@’léé,bfchirjken meat.
This relationship can alsgBe s 5w nrough XED. LT AR

2.5 Shifts in supply cirve
CHANGE IN SUPPLY takes piace whe

1 there'is a shift in tﬁér's'q5piy¢c‘1_jr_\y‘e_}"dqé 10'a change in
factors other than the price of the particular product. = - e b el R TG .

Rightward shift in supply curve — ——— .
Increase in supply can take place due to lower lene . _RMMI <
cost of production because of 'availal.‘jility of PR s -
cheaper raw material, lower wages, 'increa‘s'édf .
productivity due to better production techniques

-provision of’

and improved technology,
government subsidies, a reduction in indirect |- e
taxes, and entry of new firms in the market. An -} B
increase in'supply shifts ‘the supply cur'\,(e to'-‘th‘e"_'_.?_.
fight from S;to S2. . - BRI SN &

« At the same price (€8 P) firms are. " Guantity supplied

ts- because of superior.’
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willing to sell mare of the same good (supply lncr"d:‘a'SeEl fro
« Fow the same quantity (e.p. Q), firms nre
from ™ to P

m Q1 to Qa).
wllllng to charge a lower prlce (pr,ce decre

Leftwand shift in supply curve s e [ ,‘ P \_

fal i supply leads o a leftwards shift In Sllpply fHeane Leltward shift ’
cunve from $y to Sa Supply can fall due 1o a rlse 1A
» oant of production due to higher wage rates | ry |
\\t;‘ W national minimum: wage. or Unldn “-“.‘;',,_;

segotiations), higher. raw  material - prrces S K N
l\\\w&\ of raw material shortages etc) o
mposition of indirect taxes, some fnms leavrng
the industry, orrentovalofsubsrdies. ' A

e At the same price (e.g. P), firms are

. “Ql“.v Q Q1 R

a"ed '

anrrtv supplred

willing to supply less (supply decreases
from Qs to Qk . oo iy B

» For the same quantity (e.g. Q), 'firmS_'-éfE_’_h.o\):v’_'wi:lling"
increased from Py to Py). o T A

Language used in supply curve

Chsnze in price leads to 3 movement on the line’ and we sav that there is a change in Quantrtyf_

to charge a ‘higher,‘ price’ (pn‘ée_ .

supobed. Change in other factors leads toa shlft rn the cu-v"' and’ we,say that there‘is a chanae

n supolv.

l-hpr influences aﬁectmg shrft in supply curve
(i} Costs cf supplving a product .. - - .- 1
Companias make supply decrsron on- the basrs of the prrce-.

relztion to the cost of supplying the . product -Shift in: suoplv curve takes place because of a -

chzngs in cost of production (other than due to Iaw of drmrnrshrng returns) Ma;or mfluences on

supply include cost of raw materials-and c0mponents ‘wage rates; worker productlvrt'yr n‘ergy L

costs; transport costs; equipment maintenance costs; technology and like that

inflation); decrease in worker productivity (demotrvatron etc.); increase in prices of raw

technology leadrng to productrvrty, losses etc.

marntenance improvement in state of technology Ieadrng to productrvrty garnsetc

A

‘the market in~

o |eftward shift (decrease in supply) takes place because of increase in:cost of DrOdUCthﬂ A
which can be due to increase in wage rates (unron negotrated or because of higher .

materials and components (higher" world demand for or shortage of supply of raw.
materials); incréase in cost of energy, transportatron and equrpment mamtenance poor :

““Rightward _shift (increase in supply). takes place because of fall in cost of Droductron,:;-_,. e

whrch can be due to decrease in wage rate' (decrease i un'ron power"unemploymenf .' :
. {use: of caprtal ,.

: Supply of raw- matenals), decrease in"cost of ‘energ *--transpor’tatron-andteqU'PmE"tj_ﬂ o
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i :

(il 6o vernme“t legislation /
3 d dt

ont legislation is designed to ‘protect consumers, :

wo ¢

éaverr:P tha tgo\,emment take may include: rkem arid communlty some of ’

e’ sality control legislation (almed at impr /

oving quallt of fi 4

3 of I on of the firm); Y nlqhetr good — ncreases cost r;

, pollution c}:}ontro:| (ta"::d at controlling emission of harmful gases and other waste . ’

roducts that poliu e the envuronment also increases cost of productnon) ‘

. minimum wage: (de;rease poverty and remove wor ker explonatnon increase costs) ;

. maximum working hours (prevents worker e\ploltatlon - redu ; .

ces prod 7

increasing costs of production). : s productity Rence :

. . . o e H

The impact of regrslatrorw is that it increases costs of the firms. mgosmon of leglslatlon leads to 3

|eftward shift in the supply curve. Removal of legislation leads to rightward shift in the supply

curve. ’

(b) jmposition of indirect taxes

ECT TAXES are taxes lmposed by of goods and

the government on consumptlon and use

INDIR
services. Some common examples of mdlrect taxes are GST and.VAT. \ ;
-7, Anindirect tax leads to an- increase in the cost as the new pnce of product must reﬂect ‘:;
~ the additional purden of tax. Therefore, an'i mgosmon of tax Ieads to reduction supply *fj
(leftward shift). ‘ .
. Removal or decrease in indwe"i ta\ recults in mcrease |n supply (n' htward shlft g >’5’
: : : i 12
(c) Government subsidies RSNy SRS ﬁ
ted oyt hwmmeumnumwan i
A
o

SUBSIDY i is defined as'3 sum of mor nted
M—'ﬂﬂ&uﬁmp&mwe 7

industry or business so that the 2! _Q:.;:;m:ﬁ.a';:, qrservice ma
§ the firms leading. 10 an .increase In supply

e Provision of subsidy reguces ¢ {

(rightward shift).
+ Removal of subsidy leads te a Lgimlgr,dﬂif_t., 7
]
(iii) The size and the nature of the industry M R v Al S g j:
dustry are likely to react if they find that there are substantial ,.;
2

Firms inside and outside of the in
profits to be made in the industry.

e Firms inside the industr are likely to mcrease t

enter in the industry. Ease of entry |nto the mar
If there are no or low: bamers to entry “more fir
industry profltab\hty rtses H|gh level of barners wrl

the market.
ry because. of e1ther (n) more frrms, or (u) blgger firms

e An increase in size of the |ndust
t'in the supply curve, o

results in a rightward shif
tense competltlcr sl ely to0 Iead to ar Jgh_t_vﬁgg
rs Iead tQ Iower pnce levels for

“aF.tﬂ':\g-‘-!:é[

heir capacuty Flrms outsnde are hkely are

ket: will depend on the arrlers to entry.

ms-are. Ilkely to enter the market if .
I make |t dn‘ﬂcult for firms to enter

« Aprice warin the industry because ofin
shift in the supply curve: This happens because price' wa

'_— Lo e

iz e ny
AR

IR

=3

5

Vo oty "
. S ! .
e - -
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c e be el 7 = The price system

any glven level of output However, price wars hay. force*SOmé of the smaller firms to -
larger frrms are then lrknly;' :

exit the market leavmg few larger firmé-i in ‘the mdustry These '
: to increase prices in the long run leading to a leftward shlft in the LR... . R
Leftward shift can take place betause of decrease in-size of. lhdustr_: (frrms leavrng 1h€5, o
market because of losses or: prlce wars) or Coliusioi’ among F rms ( .

' pnces charged by the flrms)'-

(iv) Change ln price ofothemroducts oL R R
If a competitor lowers its price, rt could mean that less wrll be sUpplled-bY other. f"mS. .

3 who keep their price unchanged. . SRR
; o Ifa competrtor increases rts pnce other firms may gam and wrll be able to supply more L

(v) Other supphl mfluencmgjactors .
 JOINT SUPPLY takes place when' two rtems are produced together Increase in thejrlce

of one good will increar= 2~ supply of another jointly produced good and thereforz a
reductlon in the latter s price. lncrease m pnce of beef w:ll lead ‘tor rncreaseur_uupply of .

hlEhér'bric‘e:for-‘_th'e"'éan‘g; &P

L
There would always be certain factors unique to each rndustry that affect he supply curve. {l?

e Weather conditions affect agricultural produce Favourable weather increase supply IR
leading to a rightward shift and vice. versa, Tl ey - SR j}

* Expectations of future prices-influences supply in: stock marle and rorelgn exchange f,g
market. If price are expected to fall, supply of - shares wrll mcrease and lf pnces are . f
expected to rise, supply of shares falls L E LAY _,: o

~ 7.6 Functions of price in. a market economy > S
 Price performs following functions ina market.ecoriormy ¢

* Allocation of resources t

e Rationing - 5,!

J Transmrssron of preferences al

: ' “Th
- Main actors in the market :
‘,dam Smith in his book ‘The wealth of Natlons emphasrsed the power ofrn rl et to allocate
resources. The ‘invisible hand’ ‘of the market would allocate resources to: everyone (3 advantape
5
7
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rket — consumers produ : ' i

tors in the ma cers, and owners 6f the fa [5
1‘,erﬂar'a)urmz(,_ their | beneflt that results rn allocat\o’_ 0f reSOUI’Ces " hefaCtovrs of productron 7
" camer = n free market, there'is: cofisumer.soverei e i
v nt T <4
Coammlze their utrhty and- havc the optron to sPend thglr :’nocr?:sumers are trymg to - - E/ff

T: ods and services available'in the market p 5 Y‘én 2 W'de a”ay °f fg

e motivated by higher prof v

¢ Firm — Firms ar gher pro |ts that the z

e d services. They are therefore f Y can make from producmg 7
oods and s OrCEd to p"OdUCE goods and services that are f;
demanded by the customers so that they maximize therr sales They also try to |mprove by

their efficiency and reduce the cost of productmn ' . . i

o .owners of factors of production — Owners are motrvated by the désrre to maximize j

their returns. They will offer there factor of Productron to the firm that offers the :
highest possible return for their servrces ‘r'
Functrons of P"CE g
1. Nlocation ¢ of resources - _ . "
The.price s mechanism-works. automatrcally through “th ¥ Suggesced‘bv ndam 5:;-

~ gmith. Pricesactasa signal to both producers and consumers A rise in demand results in an

- increase in price, signalling to producers that they should. produce more of the product. Afallin
gemand results in a fall in prices, signalling to producers that they should produce less of the
product. The price mechanlsm works in.such a way.that the outcome is. a new equrhbnum

~ position with consumer’s demand Equal to producers supply

2. Price as a rationing mechanism ‘
RATIONING is the controlled distribution of scarce resources, goods. or services. Economic
system has to decide how to aliocate scarce res ources among.competing uses. There are
different ways of rationing resources, sormie of which are fisted below: =

o Price'as a rationing mechanism R it

o Queues

o Black market

* Ration cards etc.

Priceasa ratlonmg mechanrsm N ’ ,

Price can act as a ratronlng mechamsm wrth'_, or: wrthout‘:-mterventron ‘on the part of the '
_government. Goods ‘are not freely available as there are not enough resources to- produce
“enough goods to satisfy all individuals. It therefore means that goods, must be rationed, i.e.
+“there mus: be some mechanism for deciding who gets some of the goods and who does not. In
:@market system, such rationing is-done by pnce Consumers can buy a good if thev are willing

5 -and able to pay the market price.’

i

There are many ways in which pnces can ration resources
* If a producer has limited capacity or wishes to restrict the supply of the product, then, if
 these producers have high price, the market mechanism will automatically result in

rationing. High price limits demand and in turn seeks to ensure that it is in line with the
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quantity that is supplled For examplv excluﬂlvu Laf rrthldCl“'@“ or thlyner h*’h"’”
companles charge very high prices for thair products. These'high pricés reducé demand
and ensure that It is In line with the quantity that Is supplied. Oan those consumers who
are willing and able to pay the higher price. will be able to buv and’ conSlJmF‘ the good,
Others who were previously buying but are no longer wllllng br able to pay, will leave the
market. Price therefore will ration the supply to consymers who are ‘willing and able to
buy the higher price. (Students should use the diogram of o foll in stipply to exploin the
process.) This is at times considered unfair because It favours the rich who can afford to
pay higher prices for goods that are in short supply.

* Government can use prices as a means of ratlonlnp, For. exarnpl rrnposmg indirect
taxes on products such as tobacco mcreases thelr pruce.. and results rn lower demand

L oy
P,

Other rationing mechanisms R I , ot /
« Government can use different bases of rauonmp such as ratlonrnp based 'on agf’ h"lr—’ht

etc. Whatever rationing mechanlsm is used it wrll sull result_;rn some people gettmp Lhc' ,
good and_some not. gettmg the. good Thns means tha a{l/_ﬁ" r}qtront_ng,, fT]E’C/,?O"l '

discriminate: agamstsome peOpIe , ol ‘ )

» Government can use maximum prrces to ensure that'gdl crlmmatlon r., not done on

" pricing - which may be considered. unfair; However maxrmum prrces can-lead to At

shortages of goods. Price will therefore fail to act as a rationing mechamsm There must

. | L ]

1

then be some other means of rationing the good. .
o Rationing by queuing is often. used as a means of drvrdrng goods For lnstanfe

when the government announced low-priced - flour in Paklstan ‘we wrtnes,ed
|0n8 queues of people wartmg to get'the cheaper flour Tlnose whc_ re able to” s ad

the maximum price plus the opportumty cost and :t .s lrkely tc ce mgher for R

most consumers than the equilibrium price. i
-.Black markets can: also develop in' response_toﬂ'use‘o max:mum prrces Black
marketers buy the llmlted stock of good: and then they sell that good at mgher .
prices to those customers who are w:lllng and able to- buy at higher prlces The
actual price that customers pay may actually_ be greater than the’ equrhbrrum :

price. : RS
* Other non-price rationing mechamsms are ratlon coupons and favoured: customers SR

Ration coupons are given to customers and they can only buy the good (b\/‘.‘f'"“ji

paying) by showing the ration coupons, ; . i
Favoured customer means that in the event of shortages 3 seller may try to B g

make sure that the regular ct customers are able to buy the produc

(e]

3. Transmission of preferences , ’
TRANSMISSION OF PREFERENCES refer to the automatlc-
preferences of consumers to be made known to producers

e N

u y,ln,whtc .the market allows the

> s

s

'. ) i ”___,__, ?
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WS preferences of consumers to be made known to producers If -

emechanism biy3 particular product because itis not hke orit] is too expensive, then
not

\wnsum?.fﬁ’ S is tran ansmitted b back to PFOK'{UCE.I’S Their reacuon S. ou|d be one of rmprovmg the

%th'sm; ad ing. its pnce Of bOt +9 Stdy 11 DY I TR

pro

| ~Eynlanatiet oﬂ ey terms in tlcimnlion of dem.md

\ Jantities = ec0nomrsts try to represent mformatro rn a. quantrtatrve way _
%r_oduct - items that are bemg traded ThIS is a ve .' : broad term and can mclude many

: mch as goods and servrces, and all tradabl 3 tem 'such as: money"and frnancral

. assets (shares) . '

. Ppurchasers = dermand is from the purchasers of consumers pomt These'purchasers
may of may not be the final consumers These may also mclude mter.medranes (such as
producers, drstrlbutors who\esa\ers and retallers) in the productlon consumptlon chain.
o Willingness 1t to buy = gives rrse to notlonal demand re__‘_"pu‘rchasers want a. product
because of its expected satrsfactron or utrhty when it |s conéumed NOTIONAL DEMAND
. is speculative and not always backed: up by the abnhty 10 pay. Economists’ will not
! consider demand unless there is both willingness and ability to buy a product.
' Ability to buy — consumer has the purchasrng povr)er to buy a prod uct.
e “Various prices - demand fora product is judged ak various prrce levels
+ Per period of trme - demand must be time fP‘"—’LC{\ e. c‘_,. :,ales per day, or sales per week,
or sales per month and like that. - : 1
« CETERIS PARIBUS (other things being eguz!i - mé nv fa tors can affect demand for a
product It can include both price and noi- 1ors :
o Ceteris paribus assumptlon is. taken Dy
relatronshlp, other thrngs are herd cor~sLan ,

' varrab\e accurately

Appendix B — Explanat tion of i Ley rro*nta m cemabd f‘zrrve B

ndemanded Prlce is the

ﬂ ) There is an mverse relatronshro between pnce ahd'qlantlty

f |noependent variable and quantrty demanded rsTher dependent varrable

P _We: are. assuming a causal relatlonsmg, re a change in: price’ Ieads to a change in

: guantity demanded. : ‘ '

’ * The shape of the demand can change accordmg to the product. We have assumed a

y_ hnear re\atronshrp in ‘the example given in the text. lt may not always be the case. It can
' behavrour or reactlon of customers

bea hyperbola or any other shape dependrng on'the
to price changes For example;‘ ) couple of examples of s

{  inthef ngure below

ipe-of demand curve are given
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